Slide Unit/Built-in Shock Absorber

Series CXWM

Slide Bearing/g10, @16, 820, 225, 332

How to Order

Standard CXWM|16—150

I LT ]

Wigpnesiey C|DBIXWM|[{16—150 — A73

Cylinder Wlth auto SWitCh i lNumber of auto switches
Symbol | Specifications/Mounting — 2
BE With auto switch/ S 1
Housing mounting n n
With auto switch/
DP .
Plate mounting .
® Auto switch

Bearing ® | None

M | Slide bearing * Refer to the table below for the part
Cylinder bore size/Stroke (mm) e numbers for auto switches.
210 |(25), 50, 75, 100
216 |(25), 50, 75, 100, 125, 150, 175, 200
220 |(25), 50, 75, 100, 125, 150, 175, 200
225 |(25), 50, 75, 100, 125, 150, 175, 200
232 |(25), (50), 75, 100, 125, 150, 175, 200
Q Note 1) For the strokes indicated in the parentheses of the g10, 16 and 225, shock absorbers are to be

® End lock
R With end lock
— None

mounted on both sides of the plate. For the strokes indicated in the parentheses of the 820 and 232,
a shock absorber is to be mounted on single side of the plate.

Note 2) Refer to p.3.6-7 for the strokes other than those indicated above.

Note 3) For g16, 20 and 225, strokes up to 300, and for 832, strokes up to 250 are available as made to order.
(-XB11)

Applicable Auto Switches/Rrefer to p.5.3-2 for further information on auto switches.

S . Load voltage Auto switch model Bore size Wire length (m)™
; - [Electrical | | Wiring - - Applicable
Style | Special function ‘ S| (output . e Electrical entry | Housing | Plate | 0.5 | 3 | 5 | —
en = : ) ;
& 2 P Perpendicular| In-line | mounting |mounting | (—) | (L) | (Z) | (N) e
3wires |— | 5V — — A76H ® & —|—| IC —
%]
Grommet = 200v Az AT2H 216 210 o o — — -
12v | 100V | A73 | A73H | g20 216 | @ @ @ —
- (-
2 2| 2wires |pgy |5V, 12V [100Voriess) A80 | ABOH | 25 ggg e | e|—|—|
5 — comed 8 v | — [asc| — | 2| 2 [ @00 — |reay
onnector -5
g 2 5V, 12 |24V orless| ABOC | — e/e/efe| Irc
« g| 3wires |—| 5V — | — | EeA e o —|—
Grommet| > ) 12v | 100v | — | E73A | 210 — | ® | @®|—|—| —
o1 2wires |24V
z 5V, 12V [100Vorlessy —— | E8O0A ® O — | —| IC
3wires (NPN) F7NV | F79 ® 0 O|—
- 5V, 12V IC
. Grommet| |3 wires (PNP) F7PV | F7P ® 0 O|—
> wires 1oy F7BV | F79 ® 6O —|
S Connector J79C — 16 210 [ N AN BN J
2| ot Buies(PN) | FINWV [ F7ow | o0 | o16 [ @ [@[O[—[
I 0 - ,
@ (P'agnoses mdication 2 | 3wires (PNP) | 24V — — | F7PW | @25 220 | @ @ O|— Relay
] (2 color) 325 PLC
@ ) F7BWV | J7ow | 232 ® 0 O —
) Water resistant 2 wires 12v 232 -
= 2 colon Grommet — | F7BA — |e|O|—
With timer 3 wires (NPN) 5V, 12V — | FINT — @O —
IC
With diagnoses output 4vires (NPN) L — F79F ® 0 O —
(2 color) — |:7L|:*;k ® 0O —| —
* Symbols for wire lengths ~ 0.5m - — Ex) A8OC  5m - Z Ex) A80CZ = The solid state switches marked with "(O" are produced after orders are received.
M L Ex) A80CL —-- N Ex.) A80CN #x D-F7LF type is not mountable to Series CDPXW.

3.6-6



Slide Unit/Slide Bearing: Built-in Shock Absorber Series CXWM

Built-in shock absorber

This is a built-in shock absorber style in
which the shock absorber is enclosed in
the housing. Compared to the CX2 series
with shock absorber, this style achieves
space savings in the longitudinal
direction (except for the 25mm stroke).

Dramatically reduced

installation labor

The machining precision required for
positioning during the installation of the
cylinder has been reduced through the
adoption of a special pin hole machining
process, thus decreasing the amount of
labor involved in adjustment.

Provided with an end lock
mechanism

An end lock is also available, which
maintains the cylinder’s original position
even if the air supply is interrupted.

der

Made to Order Specifications

Refer to p.5.4-1 and 5.4-79 for the made to order
specification of Series CXWM.

Specifications

Style Non-lube
Fluid Air
Proof pressure 1.5MPa
Max. operating pressure 1.0MPa
Min. operating CXWM10, 16 0.15MPa
pressure CXWM20, 25, 32 0.1MPa
Ambient and fluid temperature —-10°C to 60°C (No freezing)
Piston speed (Non lubricating) 30 to 500mm/s CL
Cushion Shock absorber
Stroke adjustable range Standard stroke £2mm MLGC
Accessory (Option) Straight knock pin (2 pcs.), Adjusting bolt* (-X138) CNA
* "-X138" has a stroke adjustable range of 12.5mm on one side.
Max. Movable Load/Non-rotating Accuracy/Max. Holding Force |CB
Model CXWM10 | CXWM16 | CXWM20 | CXWM25 | CXWM32 ——
Max. movable weight* 1kg 4kg 5kg 6kg 10kg
Non-rotating accuracy
(Deflection of a piston +0.09° +0.03° +0.03° +0.02° +0.01°
rod is not included.)
?’;’; Eﬂg'{?ﬁ%g‘éﬁ;e 39.2N 98.1N 147.1N 245.2N 3923\ [CXT
* Place the center of gravity of the load and center of the slide unit close during operation. If they are placed far MX
apart each other, consult SMC.
Shock Absorber Specifications MXU
Shock absorber (1) RB0805-X552|RB0805 |RB1006-X552|RB 1006 RB1411-X552‘RB 1411
Applicable slide unit CXWM10, 16-00 | CXWM20, 25-00 CXWM32-00 MXS
Max. absorbed energy 0.98 3.92 14.7
Absorbed stroke (mm) 5 6 11 MXQ
Max. collision speed (m/sec) 0.05t0 5 MXE
Max. operating frequency (cycle/min) (2) 80 70 45
Max. allowable thrust (N) 147 353 667 MXW
Ambient temperature (°C) -10to 80
Spring force Expanded 1.96 4.22 6.86 MXP
(N) Compressed 3.83 6.18 15.30
Weight (g) 15 25 65 MG
Note 1) "-X552" is an exclusive shock absorber installed in the housing, and is the screw not attached
specification of the outer part of the outer tube. The shock absorber plate mounting style of 25 and 50 MG P
strokes are have the screw attached specification.  E—
Note 2) Maximum absorbed energy per one cycle. The operating frequency can be increased in compliance  _
] with the amount of absorbed energy. MGQ
Theoretical Force (N) ———
Model Rod size | Piston area Operating pressure (MPa) MGG
(mm) (mm2) | 02 | 03| 04|05 |06|07 08|09 ———
cxwmio-oo| 6 100 | 20 | 30 |40 | 51 |61 | 71 | 81 | o1 |MGC
CXWM16-00 10 245 49 74 98 | 123 | 147 | 172 | 196 | 221 [
CXWM20-000 12 402 80 121 | 161 | 201 | 241 | 281 | 322 | 362 MGF
CXWM25-00 14 597 119 | 179 | 239 | 299 | 358 | 418 | 478 | 537 CY1
CXWM32-00 20 980 196 | 294 | 392 | 490 | 588 | 686 | 784 | 882 L———
Note) Theoretical force (N)=Pressure (MPa) X Piston area (mm?) MYl
Standard Strokes -
Standard stroke (mm)
Model
25 50 75 100 125 150 175 200
CXWM10-00O| (1) (%) () [ [ - - - -
CXWMI16-00) (1) (+) [ ) [ ) [ ) [ ) [ J o [
CXWM20-00) (2) () [ ) ( (J (J [ o [
CXwM25-00) (1) (+) L ( [ ) [ ) [ [ ) [ )
CXWM32-00| (2) (+) | (2) (+) (J [ ) o [ o [

£

Note 1) The strokes marked with "(x)" has an absorber of double sides plate mounting style.
Note 2) The strokes marked with "(+)" has an absorber of single side plate mounting style.



Series CXWM

Weight (kg)
Stroke (mm)
Model
25 50 75 100 125 150 175 200
CXWM10 028 | 035 | 042 | 049 — — — —
CXWM16 046 | 059 | 072 | 085 | 098 1.11 1.24 | 137
CXWM20 069 | 0.87 1.03 1.22 1.40 1.58 1.75 | 1.93
CXWM25 0.95 1.17 1.38 1.60 | 1.82 | 203 | 231 | 247
CXWM32 201 | 238 | 277 | 316 | 356 | 394 | 434 | 472
Additional Weight for End Lock Model (CXWMO-IR) (kg)

Applicable model

Additional weight

CXWM10 0.08
CXWM16 0.14
CXWM20 0.15
CXWM25 0.20
CXWM32 0.43

Accessory (Option)
Straight knock pin

Operating direction per pressurized port

Operating direction of the housing when the
plate part is fixed

“ - == 1 ﬂ

a

Standard side of housing
(Mounting side)

B = o

i 1 1 |

Operating direction of the housing

With end lock (CXWM-OR)
Operating direction of the housing when
the plate part is fixed

88
| |
o =t =
B | — |«
Standard side of housing
(Mounting side)
[H 2
e | )
SN NN

Operating direction of the housing

g8
oo
++
[a)
by  °
R
1
L
(mm)
Model L oD Model*
CXWM10 10 4 MS4-10
CXWM16 10 5 MS5-10
CXWM20 15 6 MS6-15
CXWM25 15 6 MS6-15
CXWM32 20 8 MS8-20

Pressurized port A|B|C|D|E|F

Pressurized port

AlB

C

D|E

F

G|H

Operating direction

Right| Left |Left|Right| Left |Right

Operating direction

RighlLefLeft

Right|Right

Left|Left|Right

* There are 9 possible reciprocating piping method.

* There are 16 possible reciprocating piping method.

|

Deflection of the piston rod by center loading (Reference)

|

When center loading is applied to the middle of

When center loading is applied to the middle

the housing of the plate Defisction vt
| ]
(mm) (mm)
Stroke Stroke
Model 100 200 Model 50 | 100 | 150 | 200
Load (N) Load (N)

CXWM10 9.81 0.07 — CXWM10 | 294 |0.06/030| — | —
CXWM16 39.2 0.05 0.20 CXWM16 | 4.90 |0.03|0.10|0.25|0.45
CXWM20 49 0.04 0.15 CXWM20 | 7.84 |0.03|0.09|0.18|0.35
CXWM25 58.8 0.02 0.08 CXWM25 | 9.81 |0.03|0.09|0.16 |0.25
CXWM32 98.1 0.02 0.07 CXWM32 | 29.42 [0.02|0.05|0.10 | 0.15

3.6-8

Note) The factors are the total widths of deflections
in the vertical direction.

* Manufactured by Sansumi Trading Ltd.



Slide Unit/Slide Bearing: Built-in Shock Absorber

Construction: ﬂlO, ﬂ16, ﬂ25

Series CXWM

CXWM10

3 @

2y @@ 02e
RETPT

CL
MLGC
CNA
With end lock 177
CB
1 ' 1
CXWM16, 25 CVAVG
BHBDD:
W CXS
.\\ \ wl\ I‘.
Ten CXT
1 i
" MX
MXU
MXS
@16/With end lock 225/With end lock MXQ
MXF
MXW
. MXP
Component Parts Component Parts/With end lock e —
No. Description Material Notes No. Description Material Notes MG
@ | Rod cover Aluminum bearing alloy @ |Body for locking Aluminum alloy Hard anodized —
@ | Housing Aluminum alloy Hard anodized @ |Lock finger Alloy tool steel Nickel plated after quenched MGP
@ | Piston Aluminum alloy Chromated @ |Lock piston Carbon tool steel  |Nickel plated after quenched “——
@ | piston rod Carbon siel piping for machine constructions|  Hard chrome plated @) |Rod cover Aluminum alloy MGQ
® | Plate Aluminum alloy Hard anodized Return spring Spring steel Zinc chromated L —
® | Lock nut Carbon steel Nickel plated @ |Adjusting bolt Chrome steel Nickel plated MGG
@ | Adjusting bolt Chrome steel Nickel plated Body gasket NBR e —
Set screw ) @) |Rod seal NBR MGC
(For fixing rods) Chrome steel Nickel plated % |Piston seal NER VoL
Set screw . 33 |Steel ball High carbon chrome bearing steel M G F
® (For fixing shock absorbers) Stainless steel 3D |Steel ball High carbon chrome hearing steel R
Set ring Carbon tool steel Nickel plated @ |0 ring NBR CYl
@ | Plug Brass Nickel plated Round R set ring Carbon tool steel Nickel plated [
(2 | Magnet Rare earth magnet 25 @) |Lock nut Carbon steel Nickel plated MY1
@3 | Set screw for seal Chrome steel Nickel plated Plug Chrome steel Nickel plated R
Spring Stainless steel
@5 | CR setring Carbon tool steel Replacement Parts: Seal kits
Round R set ring Carbon tool steel Nickel plated Model Kit No. Contents
Shock absorber — RB0B05-X552 or RB1006-X552
Sock ( octroless mokel ol d) CXWM10 CXWM10-PS Arod seal 20, a piston seal @) and
ocket Brass Electroless nickel plate CXWM16 CXWM16-PS a cylinder tube gasket 23
Gasket NBR CXWM25 CXWM25-PS are included in one set.
20 | Rod seal NBR — - - P
2 [ Pi OThe seal kit includes a rod seal 0, a piston seal 2D and a cylinder tube gasket @3.
Pfston seal NBR List the order numbers in compliance with the respective models.
@2 | Piston gasket NBR (The piston gasket is not replaceable.)
@ | Cylinder tube gasket NBR

3.6-9



Series CXWM
Construction: ﬂZO, ﬂ32

With end lock

Component Parts

[© o]

,—)\ q It
15—, it
i ;
O =i 5 T
ALl
ke 0 90 00 0P
znilfl
v R -
Al L R—
N
@\ O @2
i e

Component Parts

or = =]

No. Description Material Notes No. Description Material Notes
(D |Rod cover Aluminum bearing alloy — (1) | Body for locking Aluminum alloy Hard anodized
(2) [Housing Aluminum alloy Hard anodized (2 | Lock finger Alloy tool steel Nickel plated after quenched
(3) |Piston Aluminum alloy Chromated (3 | Lock piston Tool steel Nickel plated after quenched
() [Piston rod Carbon steel for machines| Hard chrome plated 4 | Rod cover Aluminum bearing alloy
(5 |Plate Aluminum alloy Hard anodized (5 | Steel ball High carbon chrome bearing steel
(6 |Adjusting bolt Chrome steel Nickel plated ® | Steel ball High carbon chrome bearing steel
(7) |Hex. socket head cap screw Chrome steel Nickel plated (?» | Round R type setring] Carbon tool steel Nickel plated
Set ring Tool steel Nickel plated 8) | Return spring Spring steel Zinc chromated
(9 |[Magnet Rare earth 9 | Plug Chrome steel Nickel plated
10 |Spring Stainless steel (50), 75to ;
1) |CR setring Carbon tool steel 1) (200) sirokes |HEX. SCrew Chrome steel Nickel plated
12 |Round R set ring Carbon tool steel Nickel plated g?gksg Hex. nut Carbon steel Nickel plated
13 | Shock absorber — RB1006-X552, RB1411-X552 (50), 75 to — X
14 |Hex. socket head cap screw Chrome steel Nickel plated @1) (200) strokes | Adjusting bolt Chrome steel Nickel plated
15 |Hex. socket head cap plug Chrome steel Nickel plated (25), 50 Shock absorber _ RB1006 or RB1411
16) | Hex. socket head cap screw Chrome steel Nickel plated strokes
17 | Piston seal NBR Body gasket NBR
19 |Rod seal NBR 3 | Rod seal NBR
19 |Cylinder tube gasket NBR 4 | Piston seal NBR
20 [Piston gasket NBR Oring NBR
Note 1) The strokes indicated in the parentheses are of CXWM20, and CXWM32
Replacement Parts: Seal kits includes the strokes indicated in the parentheses.
Model Part No. Contents Replacement Parts: Seal kits
CXWM20 CXWM20-PS A piston seal @, a rod §ea\ (E] gnd a cylinder Model Kit No. Contents
CXWM32 CXWM32-PS tube gasket @9 are included in one set. CXWM20 CXWM20R-PS A body gasket (2, a rod seal (03, a piston seal
OThe seal kit includes a piston seal (2, a rod seal (8 and a cylinder tube gasket (9. CXWM32 CXWM32R-PS (@ and an O ring A5 are included in one set.

List the order numbers in compliance with the respective models.
(The piston gasket is not replaceable.)

3.6-10

OThe seal kit includes a body gasket (2, a rod seal (3, a piston seal @9 and an O ring @5.
List the order numbers in compliance with the respective models



Slide Unit/Slide Bearing: Built-in Shock Absorber

Series CXWM

ﬂlO Basic Style: CXWM10- |Stroke/50 to 100 |

. Max.ZZ o
- a -
2 X 2-03.3Through [._ sSS L S _—
2 X 2-86.5 F P £0.05 E
Depth of counter bore 3.2 - e o poh §
5
2MB X 1.0 Fe CL
Adjusting bolt g:r
xS © MLGC
b4 ; o
] N 1 N i CNA
=/ = - o < o :
L + = ﬂ CB
& \ 3
Y |
@ o e [V
‘Mﬁ 4-M4 X 0.7 Thread depth 6 Socket 3. —
4 positions of set serews for 2-M5 X 08 -
fixFi)ng shock absorber (M4) Cylinder port CXW
2-M4 X 0.7 Socket connecting port
(2 position of hexagon socket head cap screws) CXS
CXT
. o417 37
[s0]
Y | wmd MX
0 }LEI I 1
o| o @* j% __La
| i = MXU
LQ —
©
14.5 L 2-M5 X 0.8 Plug (M-5P) MXS
i (Port on the housing side) ——
MXQ
MXF
Max.8 10 z 1095 MXW
2 X 2-04n7 "5"2Depth 5 F P 4-03.2 Through
i 4-06.5 MXP
Depth of counter bore 3.3
5
—
«@
s WASES % MG
| 7 |
i —&—- /) L
g T~
S EHE B B MGQ
| = " T ——
l : & @ \ 18 = MGG
2 aa MGG _
l
2 X 2-M4 X0.7 2-RB0805 -X552 MGC
Thread depth 8 Shock absorber I
MGF
()| CY1
Model F L P Q S) SS Z 2z
Q CXWM10-50 26 63 40 154 52 92 144 | 1815 MYl
Note) For 25 stroke, the shock absorber is mounted on a plate. CXWM10-75 2e il i 2 iy L et | Z60o
Refer to p.3.6-12 for the dimensions of the 25 stroke. CXWM10-100 26 113 90 254 102 142 244 | 2815
Bl CXWM10-50--------SCXW1, #2
CAD|
3.6-11



Series CXWM

@10 Basic Style: CXWM10 -[25 Stroke

i

Socket

Max.176
& 104
2 X 2-03.3 Through 67 27
2 X 2-86.5 =
Depth of counter bore 3.2 2 250
(@4H7
Hole pitch)
=
S 5 I &
[ 4 e 74
| 6 & Sl
-z @
o 1 & } ! ~
S : L 5ore
24 =
Y A k
K} | | {
+0.012 ‘ 4-M4 X 0.7
w/ \ Thread depth &
2-M4 X 0.7 Socket connecting port
(2 positions of hexagon socket head cap screws)
G4H7+8.012
©
Y Y .
\L_y A
o o B
1 = B Y
0
<}
145 38 2-M5 X 0.8 plug (M-5P)
(Port on the housing side)
4-63.2Through
i'4—@ 6.5 Depth of counter bore 3.3
2X 2-94n7 " §%%Depth 5 10 94 _ 10 95
21 25
™
Y —f©
o | _& ay to ?—
NT N & [
R A
5
5 I~
o o & [ =
3 it 3
&—®
v 4

2X2-M4 X0.7/

Thread depth 8

B Basic style

CXWM10-25----SCXW1, #1
CXWM10-100:---::SCXW1, #2
Housing mounting style with auto switch
CDBXWM10-25:::--- SCXW1, #3
CDBXWM10-100:----SCXWL1, #4
Plate mounting style with auto switch
CDPXWM10-25:----SCXW1, #5 (#1 + #5)
CDPXWM10-100:----SCXW1, #6 (#2 + #6)

3.6-12

_Max.

31

22

2-M5 X 0.8
Cylinder port

2-M8 X 1.0
RB0805

Shock absorber




Slide Unit/Slide Bearing: Built-in Shock Absorber Series CXWM

@10 with End Lock: CXWM10-[Stroke/50 to 100]R

2 X 2-M4 X 0.7 Thread depth 8 Max.ZZ
2 X 2-041)012Depths
2-RB0805 -X552
%% / Shock absorber
i ©
Q
A L %f @ @ — _?,E\ — @
5 =)
o - )
Thel B e e
1 r — L &
© % & ©
N ET ‘
\O 5 40 4-03.2 Through Socket ABIE
4-06.5 2-M5 X 0.8
419 2'M5 X 0.8Hexagon socket head cap plug pepin of counter bore 3.3  (Cylinder port)
(Cylinder port) 2-M5 X 0.8 Plug (M-5P)
(Cylinder port) Max.8
Max.9 145 / i .8
o0~ Tr © Lg —
504 Pt s
i g@ el @ L =
oarr8”* 8
10 9.5 2 X 2-03.3Through
End lock mechanism 22 10 04+7*5°"® Depth 6 2 X 2-06.5
Depth of counter bore 3.2
ey | ‘ﬂm—_ﬁé:m
METRS < N
Wl nlo "‘IJ
g|oF BT K— B—er-
. —’L\ =y
SR S &
\ 4-M4 X 0.7 \4 positions for shock absorbers
2-M5 X 0.8 Thread depth 6 Female thread for fixation (mm)
Hexagon sockethead capplug 105 5 Model Y4
(Cylinder port) CXWM10-50R 204.5
¥ N 3 CXWM10-75R 254.5
" O CXWM10-100R | 304.5
4
o
Housing mounting style with auto switch Plate mounting style with auto switch
CDBXWM10-|Stroke|, CDBXWM10-|Stroke|R CDPXWM10-|Stroke|, CDPXWM10-|Stroke|R
Auto switch 22 Magnet mounting block Auto switch Hw Ht
>
\ / T
[ 7 - 7 y| 4#— oy
m = L] —— r 1 ! = ] &
N —-—?L i ¢ = o=
ﬁ—? -4 - } l@ N S )
1 — — I T — ~L
[ é < ﬁp L é © e ‘ @
e ) T o
Note 1) The dimensions show D-A7 and D-A8.
Note 1) The dimensions show D-E70A and D-E80A. Auto switch Hw Ht Hv
Note 2) For 25 stroke, the shock absorber is mounted on a single D-A7, D-A8 23 15 10.5
side of the plate. Refer to p.3.6-14 for the dimensions of the D-F70, D-J79, D-J79W, D-F7PW, - - -
25 stroke. D-F79F, D-F7BA, D-F7NT
] Housing mounting style with auto switch D-A70H, D-A80H 22 15 9
CDBXWM10-100R: - SCXWS5, #2 D-A73C, D-A80C 23 175 | 175
D-F7OV, D-F7OWV 23 15 14
D-J79C 24 17.5 16

Note 2) For 25 stroke type, the shock absorber is mounted on

a single side of the plate.

Refer to p.3.6-14 for the dimensions of the 25 stroke.

3.6-13

wo_
we
oo




Series CXWM
|

@10 with End Lock: CXWM10 -[25 Stroke IR

2 X 2-M4 X 0.7 Thread depth8

2 X 2-04 H"32Depths Max.176
M8 X 1.0
Adjusting bolt
o © &
o % ® © e i1 |
@ | Il =2 jj_ g = N
- | - “Tols H < Y]
] 0 T
d ) O 2
@ 4 7]
: I8 e g AT
2-M5 X 0.8 Hexagon i \Socket 1
socket head cap screw 0.5 40 4-03.2 Through 2-M5 X 0.8 6| || 3
(Cylinder port) 419 4-06.5Depth of counter bore 3.3 (Cylinder port)
MAxg 145 2-M5 X 0.8 Plug (M-5P) 2-RB0805 Shock absorber
|— . /(Cylmgerport) i (Housing installed on single side)
o| o~ Lin} ©| ,[ — = S i )
= 1
= g oAl @ L =
04r7°8"" S Max.31
10 9.5 2 X 2-03.3 Through
End lock mechanism 22 10 04H7"0°"* Depthe 2 X 2-06.5 Depth of counter bore 3.2
en
e T §O é p" 7 @
o *z|lb 1 / = Lo~
w <
o 3|2 H— . -~ 9 e
s} 5 o % Ef I
. M|
T * £
2 positions of shock absorbers 4-M4 X 0.7 Thread depth6
Female thread for fixation
2-M5 X 0.8 Hexagon 105 5
socket head cap screw :
i t
(Cylinder port) 3 \_
“T‘g} S < %
) o
[=)]
Housing mounting style with auto switch Plate mounting style with auto switch
CDBXWM10-25, CDBXWM10-25R CDPXWM10-2, CDPXWM10-25R
Auto switch 22 Magnet mounting block Auto switch Hw
—_— o " O 0\
\ o/
T — 7 1
T 1 T
® @ |1 I¥
——— B
@ e [
Note 1) The dimensions show D-E70A and D-E80A. Note 1) The dimensions show D-A7 and D-A8. (mm)
Note 2) 2 pieces of magnets for auto switches are equipped to the Auto switch Hw Ht Hv
magnet mounting block D-A7, D-A8 23 15 | 105

Housing mounting style with auto switch D-F7L, D-J79, D-J79W, D-F7PW, 23 15 10

%] CDBXWM10-25R .- SCXWS5, #1 D-F79F, D-F7BA, D-F7NT
D-A70H, D-A80H 22 15 9
D-A73C, D-A80C 23 | 175 | 175
D-F70V, D-F7TOWV 23 15 14
D-J79C 24 17.5 16
Note 2) 2 magnets for auto switches are installed in the
housing.

3.6-14



Slide Unit/Slide Bearing: Built-in Shock

4] 16 Basic Style: CXWM16- [ Stroke/50 to 200 |

Absorber Series CX WM

Max.ZZ
Q 2 X 2-04.3 Through
ss . s _ 2 X 2-08Depth of counter bore 4.5
F p+005
- (0 5117Hole pitch) o _?/ CL
2-M8 X 1.0 f . %' glz a C/‘ [ MLGC
X g 5
Adjusting bolt \ @ I g #‘ *@‘ @
l—8
@_@_Q,, 3& = o B & [ & CNA
1 T T
. B ]
y o - [
a4 & CB
7 {Qf & \ 7 Y
@ 517 *39"? Depthe \ 4 positions for set screws for fixing shock absorbers (M4) : CVIMVG
4-M5 X 0.8Thread depth10 |
d 2X2M5 X 08 55,1 | 175
(Hexagon socket head cap plug)
CXS
18.5 L
0 5y g 00" 2-M5 X 0.8 CXT
Cylinder port
q | MX
— —Ty— ;__ L
- : -
S B I - — MXU
A Y —
MXS
MXQ
Max.6 12 Z 12 2X2-M5X0.8
F P 4-04.3 Through Thread depth10 %
] [ 4-08
| { Depth of counter bore 4.5 MXW
! r’f‘iﬁ\/ N rve
- pe
] N N ¢ MXP
[ o N ——
| gl | MG
d+ RS Tk NG _
| ™
| ! - MGP
g A \ 7)%
LT T \ / h MGQ
2-RB0805-X552 2 X 2-0547 *3°12 Depth6
Shock absorber MGG
iom|MGC
Model F L P Q S SS) z Y44
CXWM16-50 35 63 30 164 52 100 152 188 MGF
CXWM16-75 325 88 60 214 77 125 202 238
CXWM16-100 37.5 113 75 264 102 150 252 288 CYl
Q CXWM16-125 425 138 90 314 127 175 302 338
CXWM16-150 55 163 90 364 152 200 352 388 MY1
Note) For 25 stroke, the shock absorber is mounted on a plate. CXWM16-175 67.5 188 90 414 177 225 402 438
Refer to p.3.6-16 for the dimensions of the 25 stroke. CXWM16-200 80 213 90 464 202 250 452 488

Il Basic style

CXWM16-150-----SCXW2, #2 (#2 + #10 + #11)
Housing mounting style with auto switch

CDBXWM16-150:----+
Plate mounting style with auto switch
CDPXWM16-150:----

SCXW2, #4 (#4 + #10 + #11)

SCXW2, #6 (#6 + #10)

3.6-15



Series CXWM

ool
@16 Basic Style: CXWM16 -[25 Stroke |

7.5

_ Max.184 2 X 2-04.3 Through
= 2 X 2-08Depth of counter bore 4.5
‘ 114
B 75 27
25 25+0.05
(@5H7Hole pitch)
o
| F7aN\ ) ) " _@'\
? wy A i A A
M +
NS 1y
o=t oibo gy 3 g [ <@
L / x ! ’)_
] | / e 7 ' frjf'ﬁ Y
A ¥ Y N4
05H7 0% Depth6 \4—M5 X 0.8Thread depth10 2 X 2-M5X0.8 55
(Hexagon socket head cap plug)
2-M5 X 0.8
18-5 - 38 Cylinder port
o 517 19"
o 3 Max.29
Y v |, -
_ E— ===
5 T
ol g 4 | 9 g o e
o Flj_
Y 1
4-04.3 Through
4- 08 Depth of counter bore 4.5
12 102 12 2x2-M5X08
Thread depth1Q
25 ... 25 _
2-M8 X 1.0 A 7] ﬁk\’ .
RB0805 \ & ¥ & f
Shock absorber B R N lr
=)
) 3 o ~
— ! o &5 2 ol Ol ©
™
lo! o
‘ 17 N7 \ 7Y
© & @

Basic style

CXWM16-25------SCXW2, #1 (#1 + #8 + #9)
Housing mounting style with auto switch
CDBXWM16-25:-----SCXW2, #3 (#3 + #8 + #9)

Plate mounting style with auto switch

CDPXWM16-25:----SCXW2, #5 (#5 + #8)

3.6-16

2 X 2-05H7 '3""? DepthB




Slide Unit/Slide Bearing: Built-in Shock

ﬂ16 With End Lock: CXWM16- [Stroke/50 to 200 |R

Absorber Series CX WM

2 X 2-M5 X 0.8 Thread depth 10 Max.ZZ
2 X 2-051i7'8"*Depth® 2-RB0805-X552 2-M5 X 0.8
2-M8X10 X Shock absorber Cylinder port
Adjusting bolt
Q \
ey = i e
@
o % © \ —10 X CL
- = 9
] 5 2
% - - gy e 1@ e MLGC
== — e 7
& N
L A2 b
e @ H= \4m4 Through
05 46 04,5 Thiolg 75 55 CB
4] 11\ 2-M5 X 0.8 4-08Depth of counter bore 4.5
Hexagon socket head cap plug (Cylinder port) Max.6 CV/MVG
Max.6 185 2-M5 X 0.8 Plug (M-5P) D
| \, (Cylinder port) -
CXW
o 0 8o oo boE=t =i
L)
=tal )
= CXS
+0.012
BEHT o S 12 2 X 2-04.3 Through CXT
End lock mechanism __ 23 12 O5H7 0" " Depth 2 X 2-08Depth of counter bore 4.5
AN .
,} — MX
T ® L
| 7 | e I
| o 1 ] ol MXU
o | - o o1 h d _L @l —
R 9—oiD 66 3
¢ o : e M (mm) [MXS
?; n Model 27 #—
® o B - f @1 CXWM16-50R | 211 [MXQ
ositions for set screws for
2-M5 X 0.8 Hexagon socket head cap plug \fix?ng shock absorbers (M4) CXWM16-75R 261 ———
Cylinder port \ 9.6 4-M5 X 0.8Thread depth 10 CXWM16-100R | 311 |MXF
1 CXWM16-125R | 361 ————
o o 3 CXWM16-150R | 411 |MXW
@ S CXWM16-175R | 461 ———
CXWM16-200R | 511 |MXP
MG
Housing mounting style with auto switch Plate mounting style with auto switch MGP
CDBXWM16-|Stroke|, CDBXWM16-|Stroke|R CDPXWM16-|Stroke|, CDPXWM16-|Stroke|R W
Auto switch Hw Magnet mounting block Auto switch Hw N Ht | MGG
0 z MGG
e e [ m| = £
s T a4 |MGC
‘ & e 4@_ -
i - -8 MGF
i & o — g R —
|?+,,9._‘ = 2 . L] =T CYl1
Note 1) The dimensions show D-E70JA and D-E80A. (mm) Note 1) The dimensions show D-E7CIA and D-E80A. (mm) MYl
Auto switch Hw Hs Ht Auto switch Hw Ht Hv
D-A7, D-A8 23 12.5 15 D-A7, D-A8 23 15 10.5
D-F70, D-J79, D-J79W, D-F7PW, D-F70, D-J79, D-J79W, D-F7PW,
D-F79F, D-F7BA, D-FINT 23 11257 15 D-F79F, D-F7BA, D-FINT Gl B e
D-A70H, D-A80H 22 12.5 15 D-A70H, D-A80H 22 15 9
D-A73C, D-A80C 23 15 17.5 D-A73C, D-A80C 23 175 | 175
D-F701V, D-F7TOWV 23 12.5 15 D-F701V, D-F70O0WV 23 15 14
D-J79C 24 15 17.5 D-J79C 24 17.5 16
D-F7LF 30 12.5 15 Note 2) For 25 stroke, the shock absorber is mounted on a
Note 2) For 25 stroke, the shock absorber is mounted on a single single side of the plate. Refer to p.3.6-18 for the
side of the plate. Refer to p.3.6-18 for the dimensions of the 25 stroke. dimensions of the 25 stroke.
Housing mounting style with auto switch
CDBXWM16:+--SCXW8, #2 3.6-17



Series CXWM
@16 with End Lock: CXWM16- [25 Stroke |R

2 X 2-M5 X 0.8 Thread depth 10

To Max.184
2X2-05H7'0" Depth6 2-M5Xx0.8
M8 X 1.0 Cylinder port
Adjusting bolt
o T O 2 [e] A{
w ° Fant
& % — —-® &
5
g fl i - —caley *-b*SAEE_ﬁ o @ @
Y [\ [fo]lis] 8|u-> [aY
% =
d N
: S _e @ $
: ] = = !
3 E!éhiggﬁr? 'gocket ¥ 0 5[ ] a6 \4-04.3Through 75 55
4| 11 head cap plug : 4-068 Depth of counter bore 4.5 - -
(Cylinder port) Max.6 18.5 2-M5 X 0.8Plug (M-5P) M8X1.0
(Cylinder port) 2-RB0805 Shock absorber
(Housing installed on single side)
ol © T - S
nlfed - CIg - 655’ ol
MAX.
o5H7012 29
23 _12 +0.012 12, 2 X 2-64.3Through
End lock mechanism 05H7 o~ Depth® 2 X 2-08Depth of counter bore 4.5
— T len
| T 7
& ? o
7 i IR E—
Moy g ¢ -—8 =
O e o @
\4-M5 X 0.8 .
2-M5 X 0.8 Hexagon socket head cap plug Thread depth 10
(Cylinder port) 9.6 2 positions for set screws for
fixing shock absorbers (M4)
oLl 5
o] U @

Housing mounting style with auto switch
CDBXWM16-25, CDBXWM16-25R

Auto switch

Magnet mounting block

Note 1) The dimensions show D-7A and D-8A. (mm)
Auto switch Hw Hs Ht
D-A7, D-A8 23 12.5 15
D-F70, D-J79, D-J79W, D-F7PW,
D-F79F, D-F7BA, D-FINT B 128 15
D-A70H, D-A80H 22 | 125 | 15
D-A73C, D-A80C 23 15 | 175
D-F701V, D-F7O0WV 23 | 125 | 15
D-J79C 24 15 17.5
D-F7LF 30 12.5 15

Note 2) 2 magnets for auto switches are equipped
to the magnet mounting block.

CDBXWM16-25R: -

|
CAD

3.6-18

Housing mounting style with auto switch
SCXW6, #1

Plate mounting style with auto switch
CDPXWM16-25, CDPXWM16-25R

Auto switch Hw Ht
SALLY > ey
Q I
[ e & @ ] wl o
By =", 8]
& | _ - I:?—n . =
— &
T E— 2
- = @ '
Note 1) The dimensions show D-7A and D-8A. (mm)
Auto switch Hw Ht Hv
D-A7, D-A8 23 15 10.5
D-F70, D-J79, D-J79W, D-F7PW,
D-F79F, D-F7BA, D-F7NT G B
D-A70H, D-A80H 22 15 9
D-A73C, D-A80C 23 175 | 175
D-F701V, D-F7O0WV 23 15 14
D-J79C 24 17.5 16

Note 2) 2 magnets for auto switches are installed in the housing.



Slide Unit/Slide Bearing: Built-in Shock

Absorber Series CX WM

ﬂZO Basic Style: CXWM20- | Stroke/50 to 200 | (&

ZZ
" i
- ss .. 5 2 X 4-M5 X 0.8 Thread through
2 X 2-85.2 Through £ p+0.06 / From the opposite side
2X2-095 fa— - 2X 4075
Depth of counter bore5 (@8H7Hole pich) 2-M10 X 1.0 7, .55 Depth of counter bore4 5
= Adjusting bolt
Q.
B 1 ©)
g " (c 2 positions for set screws for fixing
3 i ge i CD shock absorbers (M5)
T 8 et =
0 oetrte:
o R o 6 ¢._Lq. %Lg © o gl o
\ =
b | —
4 positions
4-M6 X 1.0 Thread depth9 06H7+8‘012 Depth8 \ for set screws for fixing 2 X 2-M5 X 0.8 11
shock absorbers {Hexagon socket head cap plug)
15.5
2 S 2-M5 X 0.8
o6 6H7 *8-012‘7 Cylinder port
* [e}]
|
I o © +IJ
0 L= & -
|8 [ oY PO ‘}
2-M4 X 0.7 Thread depth5 6 2
o
2X2-MB X 1.0Thread through 12 14 z 14
2 X 2-M6H7 *3:912 Depth 8
& - Z B, - 4-05.5 Through
4-69.5
Depth of counter bore 5.5
- (O N
By © %
2 | | 2 o -1
T — T i \_%.._
2-RB1006-X552 (Shock absorber)
(mm)
Model F L P Q S SS Z Y4
CXWM20-50 34.5 64 35 170 52 104 156 184
CXWM20-75 34.5 89 60 220 77 129 206 234
CXWM20-100| 39.5 114 75 270 102 154 256 284
CXWM20-125 | 44.5 | 139 90 320 127 179 306 334
CXWM20-150| 57 164 90 370 152 204 356 384
CXWM20-150----SCXW20A, #2 CXWM20-175| 69.5 | 189 | 90 | 420 | 177 | 229 | 406 | 434
CXWM20-200| 82 | 214 | 90 | 470 | 202 | 254 | 456 | 484

plate. Refer to p.3.6-20 for the dimensions of the 25 stroke.

Q Note) For 25 stroke, the shock absorber is mounted on a single side of the

3.6-19

wo_
we
oo




Series CXWM

1] 20 Basic Style: CXWM20- |25 Stroke |

2 X 2-p5.2 Through l_

Set screws for fixing
adjusting bolts (M5)

62

2 X 2-09.5Depth of counter bore
é

M10 X1.0

4-M8 X 1.0Thread clepthQ/ ©6H7 "8 Depth 8

Adjusting bolt

20

...... _ en 74 -
o 120
79 27 -
™ 2;_-25;0,05 ¥ i
o (@617 E‘
Hole pitch) E
?
&
b —s ]
8 _ s /
o B | |
00— | g ® Ot
Pric——0 —' % —
2 positions

for set screws for fixing

shock absorbers

- 2-M5 X 08 _
06H7+3012 Cylinder port
et ‘ o
- e}
= gl o| Vi I J
R o o2 "HY/ 4 o .
2l & BRAVAGIE
- N |
2-M4 X 0.7Thread depth 5 8 n
&
2 X 2-M6 X 1.0Thread depth12
106 14
2 X 2-©@6H73°2Thread depth 8 = - = -
27 . 25 4-05.5Through
4-09.5
Depth of counter bore 5.5
o P AR
| =
O—- - ol &
=]
2| o 5?0 0 i | o (=0 8
<
T ,{} AAAAA e ]

[l Basic style
CXWM20-25------SCXW20A, #1
CXWM20-150::----SCXW20A, #2

Housing mounting style with auto switch
CDBXWM20-25:--SCXW20A, #3 (#1 + #3)
CDBXWMZ20-150---- SCXW20A, #4 (#2 + #4)

Plate mounting style with auto switch

RS

4
i

2X2-M5 )gp.ga__/

(Hexagon socket
head cap plug)

15.5

11

2 X 4-M5 X 0.8 Thread through
/ From the opposite side

/ 2X4-075

Depth of counter bore 4.5

CDPXWM20-25:----SCXW20A, #5 (#1 + #5)
CDPXWM20-150::----SCXW20A, #6 (#2 + #6)

3.6-20

2-RB1006 (Shock absorber)
M10 X 1.0{Housing installed on single side)




Slide Unit/Slide Bearing: Built-in Shock

@20 with End Lock: CXWM20- [Stroke/50 to 200 IR

CAD

o 11Depth 21

(An adjusting bolt M10 X 1.0 X 14},
to the plate port)

2 X 2-M6 X 1.0 Thread depth 8

2 X 2-0647% *392 Depth 8

55

4-M5 X 0.8 Thread through
/ From opposite side

e

17 4-07.5

Depth of counter bore 4.5

2 positions for set screws

22.5

'('C'ylinder port)

E-MS X 0.8 Hexagon socket head cap plug

4-05.5 Through
4-09.5

2-M10 X 1.0
Adjusting bolt

Depth of counter bore 5.5

22
—r
-9'® €
Jyid

’5\\

2-M5 X 0.8
(Cylinder port)

155

/ for fixing adjusting bolts (M5)

20 L
T 0
~
o~
[I—r | =
W o8
RR|g8] | A =
St =t —1o .
WES b 1t
Tl
+oo2 @
2-M5 X 0.8 067 o
Hexagon socket head cap plug .
2 X 2-@5.2 Through
2 X 2-09.5
Depth of counter bore 5
End lock mechanism 21 14 z 14
e F__ @5... 4-M6 X 1.0 Thread depth9 Il Housing mounting style with auto switch
(@6H7 -150R:+---
- I . Yole pth) CDBXWM20-150R:---:SCXW20C, #2
’ O——@—J—
8 @
i B 0
8ele 09 00— Do o 2 @ Y
A = =
|
116 \
o = / \
4 positions / £ +0012
6 &
for set screws for fixing @N ge HlThOB 2-RBI1006- X552
Shock absorbers o5, P Shock absorber
Ex (mm)
=
85 . ., 6 E o Model F L P Q s | ss | z | zz
n 1 r S CXWM20-50R | 34.5 64 35 170 52 104 | 156 | 205
iy CXWM20-75R | 34.5 89 60 220 77 129 | 206 | 255
— f CXWM20-100R| 39.5 | 114 75 270 | 102 | 154 | 256 | 305
] CXWM20-125R| 44.5 | 139 90 320 | 127 | 179 | 306 | 355
5'3] ‘|‘2-M5 X 0.8 Hexagon socket head cap plug CXWM20-150R| 57 164 90 370 | 152 | 204 | 356 | 405
(Cylinder port) CXWM20-175R| 69.5 | 189 90 420 | 177 | 229 | 406 | 455
CXWM20-200R| 82 214 90 470 | 202 | 254 | 456 | 505

Housing mounting style with auto switch

CDBXWM20-[Stroke], CDBXWM20-[Stroke]R

Auto switch

HW

1T s

Magnet mounting block

= 4
b
N E—— b ®
e
| | I -p = H
4+ — —4 .
s re
L7 hd
Note 1) The dimensions show D-7A and D-8A. (mm)
Auto switch Hw Hs Ht
D-A7, D-A8 23 125 15
D-F70, D-J79, D-J79W, D-F7PW,
D-F79F, D-F7BA, D-FINT B | 2| B
D-A70H, D-A80H 22 12.5 15
D-A73C, D-A80C 23 15 175
D-F7OV, D-F7O0WV 23 125 15
D-J79C 24 15 175

Note 2) For 25 stroke, the shock absorber is mounted
on a single side of the plate. Refer to p.3.6-22
for the dimensions of the 25 stroke.

92}
I

Plate mounting style with auto switch

CDPXWM20-[Stroke], CDPXWM20-[Stroke]R

Auto switch HW Ht
>
n| 3
’" % ?— ¢ i
4 -
=il
=
A S SR =
} = <
Sz p-
il — —
Note 1) The dimensions show D-7A and D-8A. (mm)
Auto switch Hw Ht Hv
D-A7, D-A8 23 15 105
D-F70, D-J79, D-J79W, D-F7PW,
D-F79F, D-F7BA, D-FTNT B | B ®
D-A70H, D-A80H 22 15 9
D-A73C, D-A80C 23 175 175
D-F70V, D-F7O0WV 23 15 14
D-J79C 24 175 16

Note 2) For 25 stroke, the

shock absorber is mounted

on a single side of the plate. Refer to p.3.6-22
for the dimensions of the 25 stroke.

3.6-21

Absorber Series CX WM

wo_
we
oo




Series CXWM

@20 with End Lock: CXWM20- [25 Stroke IR

MAX 167
M10X 1.0 10 57 y 4-M5 X 0.8 Thread through
B 006 5 ;2 5.5 17 /From the opposite side
Shock ahsorber/ 2 X 2-06 HT:gWDepthB 4-@ 7.5Depth of counter bore 4.5
F @ 3 g Set screw for fixing an
+ % i % ; /“adjusting bolt (M5)
— At — 5 i
; fo|o 1 o+ ks L thle o Ho o el
o 6'_:9 <t O~ : — & ™
L % o g 1"
T mi_;l_ - [
2l /el 45 \ 4-05.5 Through \Miox10 \ 2-M5 x 08
2 4-095 Adjusiing: ol 11 Cylinder port
2-M5 X 0.8 Hexagon socket head cap plug Depth of counter bore 5.5 2 X 2-M6 X 1.0 Thread depth12 e
(Cylinder port)
20 39
L
~
_ o
g 2ldet |
e Beg o 1l
IR}
‘ ®| w0
2-M5X 0.8 @6y +§0127
Hexagon socket head cap plug - 2 X 2-05.2 Through
2 X 2-09.5
Depth of counter bore 5
End lock mechanism MAX4o 21 14 106 14
27 251006 4AXMBX1.0 ™"

) (@6 H7 Hole pitch ) / Thread depth 9
! i vl =
|
|
|

S |
- P w4
O --@O—o R 2 | 8
=
O———O\—

rh‘:}w
&eo—a—0©)

fzofgzitt:'rzws = \ SBRB:(]&?B- §552 Il Housing mounting style with auto switch
ock absorber O5R--....
o5 & fixing shock absorbers oo CDBXWM20-25R SCXW20C, #1

0617+ 3"%Depth 8

6h7 T2 Deptha

A

2-M5 X 0.8 Hexagon socket head cap plug
(Cylinder port)

s

Housing mounting style with auto switch Plate mounting style with auto switch
CDBXWM20-25, CDBXWM20-25R CDPXWMZ20-25, CDPXWM20-25R
Auto switch Magnet mounting block P— HW Hit,

HW

Hv

WA a

I

- Y ¥05) - = 4 [re)
3 2 $ be 2
=i +— -1t O
L ] i i M e
= I b . L —| - 1___3 ]
& fé + % $-$ 4
T — ] —
Note 1) The dimensions show D-7A and D-8A. (mm) Note 1) The dimensions show D-7A and D-8A. (mm)
Auto switch Hw Hs Ht Auto switch Hw Ht Hv
D-A7, D-A8 23 | 125 | 15 D-A7, D-A8 23 15 | 105
D-F70, D-J79, D-J79W, D-F7PW, D-F700, D-J79, D-J79W, D-F7PW,
D-F79F, D-F7BA, D-FTNT B | 125 ] 15 D-F79F, D-F7BA, D-FTNT H || B &
D-A70H, D-A80H 22 125 15 D-A70H, D-A80H 22 15 9
D-A73C, D-A80C 23 15 175 D-A73C, D-A80C 23 175 | 175
D-F70V, D-F7OWV 23 125 15 D-F70V, D-F7OWV 23 15 14
D-J79C 24 15 17.5 D-J79C 24 17.5 16
Note 2) 2 magnets for auto switches are equipped to the Note 2) 2 magnets for auto switches are equipped to the
magnet mounting block. housing mounting block.

3.6-22



Slide Unit/Slide Bearing: Built-in Shock

Absorber Series CX WM

1] 25 Basic Style: CXWM25- | Stroke/50 to 200

|

2 X 2-05.2 Through B Max.ZZ -
2 X 2-e9.5 Q
Depth of counter bore 5
SS S :
g - - -t
F p=005 —|
(@ 67 Hole pitch)
oy b
e . - °
@“ 8 f i
- i
M~ O -
5 @ C?@ @ ‘@_‘?‘ ©| ~

67

18 |8 \ Gt
oo | @
\ (- &
L ¥
L o ) = : &
’ 4 positions for set screws 2 X 2-Rc(PT) }4
_ +0012 anth 2X2-Rc(PT) )8
4-M6 X 1.0 Thread depth12 06H7 © epth 8 for fixing shock absorbers (M5)  Piug (R(PT) 1) 3 |
20.5 L
o6H7 3% 2-Re(PT)}%
| L | / Cylinder pc:rt MX
w
L l RN
0 — - e
3 9 . 2 _ MXU
\ 3 C T
MXS
2 X 2-MB X 1.0 MXQ
Thread depth 12 16, rd 16 Max.6 ——
2 X 2-08H7 87" Depth 8 E p 4-055Through MXE
- 4-09.5 —
Depth of counter bore 5.5
: MXW
N Iz &3 e ———
= ) y ¢
' 9 d | | zanoxio MXP
Adjusting bolt —
— = I~ SE. [EN— ——
1 6 w
MGP
\ : MGQ
B — — —
‘ MGG
2.RBI006-X562 o0
Shock absorber
MGC
Model F L P Q S SS Zz Y4
CXWM25-50 31 66 45 175 52 107 159 203 CYl
CXWM25-75 33.5 91 65 225 77 132 209 253
CXWM25-100 33.5 116 90 275 102 157 259 303 MYl
Note) For 25 stroke, the shock absorber is mounted on a plate. _ CXWM25-125 46 | 141 | 90 | 3825 | 127 | 182 | 309 | 353
Refer to p.3.6-24 for the dimensions of the 25 stroke. CXWM25-150 58.5 | 166 90 375 | 152 | 207 | 359 | 403
CXWM25-175 71 191 90 425 177 232 409 453
CXWM25-200 83.5 216 90 475 202 257 459 503

Il CXWM25-50----SCXW3, #2

CAD

3.6-23



Series CXWM

@25 Basic Style: CXWM25-

Max.203
- 125
2 X 2-05.2 Through 82 o7
2 X 2-09.5 -
Depth of counter bore size 5 28.5 25+0.05
- (0617 Hole pitch)
f
A @} Y @9 _{}_ Gl '@m i
_@ 8 @
fegt-g]
i i A
5 & -5 2 = = 3
4 = A | S
1 D;é.],. @_
5
L A ¥ }_\ ©- i R y
: ¢ 9 &
% — N4 ,
4-M6 X 1.0Thread depth12 / 06H7 '3 *"*Depth 8 2X 2-Re(PT) % /
Plug (R(PT)}4)
195 43 N
0617 82 2-Rc(PT) %
®© Cylinder port
A \Ly {/
3| o o T
D o W CQJL w
y Y v
N
o
2 X 2-M6 X 1.0 Thread depth12 16 109 16
2 X 2-06+7"0"'®Depths _ 285 25 4-05.5 Through N
i 4-069.5
Depth of counter bore size 5.5
o -
N 2-M10 X 1.0
] kIJ RB1006
J Shock absorber
5
e 8
3 5 & = -
wn —
3 L N B
v & N
D fan) fan)
v ¥ W
Max.3_1_

Basic style

CXWM25-25::--:SCXW3, #1 (#1 + #8 + #9)
CXWM25-150:--:--SCXW3, #2 (#2 + #10 + #11)
Housing mounting style with auto switch
CDBXWM25-25:-:--SCXW3, #3 (#3 + #8 + #9)
CDBXWM25-150-----SCXW3, #4 (#4 + #10 + #11)
Plate mounting style with auto switch
CDPXWM25-25-::--- SCXWS3, #5 (#5 + #8)
CDPXWM25-150:--:-SCXW3, #6 (#6 + #10)

3.6-24

A




Slide Unit/Slide Bearing: Built-in Shock Absorber

Series CXWM

ﬂ25 With End Lock: CXWM25- [Stroke/50 to 200 R

2 X 2-M6 X 1.0 Thread depth 12

Max.ZZ
2 X 2-061757“Depth8
2-M10 X 1.0
Adjusting bolt
> pp— Y I &
g ¢ 2113 S [ CL
@' 67%‘; T 1 5 ‘\\ /
) @ a
3 ( - - E ~ 2 5 @ 83 MLGC
& S m— 1 1 7aey)
. ; s o g 3 »
Nr__ 4 T T - \?j i CNA
) ’ I\4-«255.5 Through mg‘J
2-Rc(PT) % 51 4095 2-Rc(PT) Js 7~ CB
7.5 13 PIUg(R(F’T)'/é) Depth of counter bore 5.5 (Cylinder port)
(Cylinder port) 2-Rc(PT) % [l CDBXWM25-150R CVIMVG
Max.6 20.5 Plug (R(PT)'4) Max.6 can DS SCXW?7, #2
(Cylinder port)
IS — T—o-—T
T O fomn éei CXS
0617 6
16 2 X 2-05.2Through CXT
; 23 1 0675 Through 8 2 X 2-095
Sl el ‘ 36 2-RB1006-X552 / Depth of counter bore 5 MX
1] Shock absorber / L
T
-&- -7 5
8 / [ N ‘é—— MXU
W N —_—
R = . S (mm) IMXS
] \_______W,,@fl Model 77
?g r - © CXWM25-50R | 226 |MXQ
= = CXWM25-75R | 276 ———
\4-M6 X 10 4 positions for set screws for CXWM25-100R 326 |MXF
- 14 il st
glE;EE(T;'/rS) - 135 Thread depth 12 fixing adjusting bolts (M5) CXWM25-125R e
i ny /8
(Cylinder port) “ex- CXWM25-150R | 426  [MXW
o | = S CXWM25-175R 476 ——
e | |t CXWM25-200R | 526 _ |\|XP
wn
oo —
MG
Housing mounting style with auto switch Plate mounting style with auto switch MGP
g g sty g sty
CDBXWM25-|Stroke|, CDBXWM25-|Stroke|R CDPXWM25-|Stroke|, CDPXWM25-|Stroke|R MGQ
Auto switch Hw Magnet mounting block Auto switch Hw
g —" [H'| z MGG
_”/_I _— | [ ’Hhﬂ_l il
L N A & MGC
€ L—— S ) MGF
I ; & DT
] —G &
L) e kd CY1
MY1
Note 1) The dimensions show D-7A and D-8A. (mm) Note 1) The dimensions show D-7A and D-8A. (mm) —
Auto switch Hw Hs Ht Auto switch Hw Ht Hv
D-A7, D-A8 23 12.5 15 D-A7, D-A8 23 15 10.5
D-F70, D-J79, D-J79W, D-F7PW, D-F70, D-J79, D-J79W, D-F7PW,
D-F79F, D-F7BA, D-F7NT 23 1251 15 D-F79F, D-F7BA, D-F7NT 23| 15110
D-A70H, D-A80H 22 12.5 15 D-A70H, D-A80H 22 15 9
D-A73C, D-A80C 23 15 | 175 D-A73C, D-A80C 23 | 175 | 175
D-F701V, D-F7TCOWV 23 12.5 15 D-F701V, D-F7O0WV 23 15 14
D-J79C 24 15 17.5 D-J79C 24 17.5 16

Note 2) For 25 stroke, the shock absorber is mounted on a single
side of the plate. Refer to p.3.6-26 for the dimensions of

the 25 stroke.

Note 2) For 25 stroke, the shock absorber is mounted on a single
side of the plate. Refer to p.3.6-26 for the dimensions of

the 25 stroke.

3.6-25



Series CXWM

ﬂ25 With End Lock: CXWM25- [ 25 Stroke |R

2 X 2-M6 X 1.0Thread depth12
2 X 2-861713"?Depth8

2-M10 X 1.0
Adjusting bolt

Max.201

—— : @ sl g
Q
¢ — ®
5
0 _ _ o) B e 25 ey 0|
) ©[~ H 2 2 9
@& ey
b © : & 4
S $ o o V3
== ) 1 ’ ' T 2-Rc(PD% -
2-Re(PT) % oy /1-@5-5Through {Cylinder por) =108
7.5 13\ Plug (R(PT)!5) 4-09.5
W Depth of counter bore 5.5
_ 1
Mixg 195 ﬁhf;c?:(;,f} 5 2-RB1006 Shock absorber
{Cylinder port) (Single housing installed)
£ 1 3
WIE-SE | [SY]
3|8|® © g@% é@{ el J
' s8]
B0 Max.31
23 16 109 16 2 X 2-05.2Through
End lock mechanism @GH;gm?DeDthS 2 X 2-09.5Depth of counter bore 5
P ") il
, O & O/
= 8 / N I E— N
4 =S caling s
3 3o G R — D
" o
@ -’-EE i I I ?"‘
OIS @
2 positions for set screws / \4-M6 X 1.0Thread depth12
for fixing adjusting bolts (M5)
2-Rc(PT) )%
Plug (R(PT) %6) ™\ o35
(Cylinder port) | T
+
©
He +
0
0
Housing mounting style with auto switch Housing mounting style with auto switch
CDBXWM25-25, CDBXWM25-25R CDPXWM25-25, CDPXWM25-25R
Auto switch Hw. Magnet mounting block M\ Hw

/

Note 1) The dimensions show D-7A and D-8A. (mm) Note 1) The dimensions show D-7A and D-8A. (mm)
Auto switch Hw Hs Ht Auto switch Hw Ht Hv
D-A7, D-A8 23 12.5 15 D-A7, D-A8 23 15 10.5
S & g & D-F70, D-J79, D-J79W, D-F7PW
Dok DRTBA DTN | 23 | 125 | 15 BFrok DB DT | 28 | 15 | 10
D-A70H, D-A80H 22 12.5 15 D-A70H, D-A80H 22 15 9
D-A73C, D-A80C 23 15 17.5 D-A73C, D-A80C 23 175 | 175
D-F70V, D-F7TOWV 23 12.5 15 D-F70V, D-F7OWV 23 15 14
D-J79C 24 15 17.5 D-J79C0O 24 17.5 16
Note 2) 2 magnets for auto switches are equipped to the magnet Note 2) 2 magnets for auto switches are installed in the housing.

mounting block.

l Housing mounting style with auto switch
3 6_26 CDBXWM25-25R:++--- SCXW?7, #1




Slide Unit/Slide Bearing: Built-in Shock

ﬂ32 Basic Style: CXWM32- [Stroke/70 to 200 | Ll

2 X 2-06.9 Through ZZ 2-M14 X 1.5
2 X 2-o11 \ [ Q [ Adjusting bolt
Depth of counter bore 6.5 [ SS S
| | L 38 p0.05 245 7.5 2 X 4-M6 X 1.0
| (o8H7Hole pitch) 2 positions for set screws for Thread through
l fixing adjusting bolts (M6) From the opposite side
5] 5] 2 X 4-09.5
4 O-- - N2 Depth of counter bore 5.4
Es) @/
© ‘ B S /|
\ i T o
[Te) ; : 1 e o) . =
g o+ qe FFO ¢ =382 & 8 =0y &
R Ty
2\ i 1o ?J
& o\ —-o & |
/ \ 0.015 4 positions |
4-M8 X 1.25Thread depth15 08H7'y for set screws for shock 2 X 2-Rc(PT) % 15|
Depth12 absorbers (M5) Plug (R(PT)4)/ 0.5
28 L 2-Rc(PT) s
E 08H7+8-01f5 | { Cylinder port
[ —l" / 0
| Y =]
[ < Iy
[] o) : A ITe) |
o0 - @:l 88 o—ro—— +
=IP AN ! g i . il
o {1 1
MN] o
/ N
2-M6 X 1.0Thread depth7 / |10
2 X 2-M8 X1.25
Thread depth 15 20 yd 20
2 X 2-98H?+8'015 \ | 38 P 4-06.9 Through
o= =20 N [ | [4-ol1
Deplirte \ I | Depth of counter bore 7
% | r _@
i | @ - T _4 Q
- ‘ | | } e e L
‘2 ! | o
Tl 1 i
Lo o—-— | = 2 o
[Ve] ! ‘ \
| 1 !
[ I | TV T T
o | \ &
] | )
Q; @‘ = '"@ \\ T o
2-RB1411-X552 Shock absorber |
(mm)
B Gesic syl Model L Pl Q[ s [ss][z ]z
CXWM32-150-----SCXW32A, #3 CXWM32-75 90 70 243 77 146 | 223 | 263
Housing mounting style with auto switch CXWM32-100| 115 | 95 | 203 | 102 | 171 | 273 | 313
;Zixn‘:‘(’)"[’]'gf";lsgt"ié'vs\lgg(gjfj’:ﬁirf#s +#6) CXWM32-125 | 140 | 120 | 343 | 127 | 196 | 323 | 363
COPXMI2. 150 SO WA, 5 CXWM32-150 | 165 | 145 | 393 | 152 | 221 | 373 | 413
CXWM32-175| 190 170 443 177 246 423 463
CXWM32-200 | 215 195 493 202 271 473 513

Note) For 25 and 50 strokes, the shock absorber is mounted on a single side of the plate.
Refer to p3.6-28 for the dimensions of the 25 and 50 strokes.

3.6-27

Absorber Series CX WM

wo_
we
oo




Series CXWM

ﬂ32 Basic Style: CXWM32- [Stroke/25, 50 |

2 X 2-06.9Through

ZZ Max.48  Shock absorber

2 X 2-011 \ Q ‘ 2-RB1411
Depth of counter bore 6.5 [ SS S M14 X 1.5
-— e 2 ==
2 positions for set screws for ! F p-oos | (HOL!S'”IQ bstalled 24.5 7.5
fixing shock absorbers (M5) \, | ‘ (0817Hole pitch) Oneingle sids) 2 X 4-M8 X 1.0 Thread through
‘ ‘: ! /From the opposite side
M14 X 1.5 7 & 2 X 4-99.5
/Adjusting boit 1 K ©— 0 A4 Depth of counter bore 5.4
‘ ! o
e | .10 S @
BN il ol
S g oS ¢ 18z == 88 | O
Q ! L § ! -¢- _¢_
& 1\ % —re v
5 o I
& = ]
1 position for set screws 4-M8 X 1.25 \68 H7*6°"° Depth12 2 X 2-Rc(PT) 4 13
for adjusting bolt (M6) Thread depth 15 Plug (R(PT)!&) 205
G L 2-Rc(PT)'%
0870015 Cylinder port
w
| 'QI
T oS W - o T
©Q ¥ Ll @ : +
S LR S i=C —=n
i i
-
2-M6 X 1.0Thread depth7?, 10
2 X 2-M8 X 1.25 Thread depth15 20, y4 20,
2 x 2-08 170" Depth12 [,__F-__L_‘ 4-06.9Through —l
| 4-o11
\ ;‘ / Depth of counter bore 7
= [
i G
| |
g |
28° 1o - g ==
| | : ' i
el & 3
| o 18
(mm)
Model F L P Q S SS G z Y4
CXWM32-25 37 41 22 143 27 96 27.5 123 163
CXWM32-50 38 65 45 193 52 121 28 173 213

J Basic style
CXWM32-25:-:--SCXW22A, #1
CXWM32-50------SCXW32A, #2
Housing mounting style with auto switch

Plate mounting style with auto switch

CDBXWM32-25::---:SCXW32A, #6 (#1 + #4) CDPXWM32-25------SCXW32A, #7
CDBXWM32-50:--::SCXW32A, #6 (#2 + #5) CDPXWM32-50----SCXW32A, #8

3.6-28



Slide Unit/Slide Bearing: Built-in Shock

Absorber Series CX WM

@32 with End Lock: CXWM32- [Stroke/75 to 200 R

2 X 2-M8 X 1.25 Thread depth 15 285 2z CRTESE
+0.015 Q 3 LML T
2 X 2-08y7*3%"°Depth 12 |- ss S /Adjusting bolt
015Depth 28.5 T P i/ s 245
/With an adjusting bolt ‘ T |||/ 2positions for set screws for T ‘ 4-M8 X 1.0 Thread through
/M14X 1.5 X 20L to the plate | | |/ Ting adjustingbots (V) | | | From the opposite side
% I —— ey | Tg | / 4-09.5Deph of counter bore 5.4
- VRERE=== .
| i
8 — = — 1 =8¢ & 38 2 4 3
| , : N p— i
| 0| ‘ ‘
= § @ 53 .
m, ~ Bl 8- [ £ 1 |
i i ‘ \ 4-06.9 Through TR
11, 15\ 2-Rc(PT)’s - 65 \ 4-o11 Depth of counter bore 7 15 | |, 12 X 2-Rc(PT)4
Plug (R(PT)6) — 205]_ 7\ (Cylinder port)
(Cylinder port)
_2-Rc(PT))s
28 . L [Plug(R(PT) %)
4] f(Cyllnder port)
- | /
who ! i
=1 : ) 2
B e G
! |
(a‘8H7f+f)m5 i o u")T
2-RB1411-X552 Shock absorber
End lock mechanism 20 Z / 20 2 X 2-86.9Through
\ 38 p=0.05 / "1 /2 X 2-011 Depth of counter bore 6.5
\ (GSH?HOIE pltch) / |V
\ / /
o | | 1 [ —
I b %@ = —
'-Di ' | e _..?_DI.._ T %‘!f**@ H Housing mounting style with auto switch
: ] CDBXWM32-150R - SCXW32C, #3
i e ==l |
IR i ==—=N
FESS R =i &
I / \
2-Rc(PT)!s 4-M8 X 1_25Trﬁ?egd depthwsf ‘\4 positions for set screws for
PUgR(PT)’%) 20075 \fixing shock absorbers (M5)
(Cy“nder port) _14.5 08H7 0 Dep‘[h 12 \
o = (mm)
~ \ Mode| L P Q s | ss | z | zz
&‘@s— + 4 CXWM32-75R 90 70 243 77 146 223 263
CXWM32-100R| 115 95 293 102 171 273 i3]
= CXWM32-125R| 140 120 343 127 196 323 363
CXWM32-150R| 165 145 393 152 221 373 413
CXWM32-175R| 190 170 443 177 246 423 463
CXWM32-200R| 215 195 493 202 271 473 513

Housing mounting style with auto switch
CDBXWM32-[Stroke], CDBXWM32-[Stroke]R

Plate mounting style with auto switch
CDPXWM32-[Stroke], CDPXWM32-[Stroke|R

Auto switch H Magnet mounting block Auto switch Hw Ht
w >
24 i =t
- s I
= Y %) = r=] I
[ B ==L A = '@l
' — . - FO- | — S : = E¢=:s

s,

Note 1) The dimensions show D-7A and D-8A.

kj

ARLC,

Ll 1P

Note 1) The dimensions show D-7A and D-8A.

(mm) (mm)

Auto switch Hw Hs Ht Auto switch Hw Ht Hv
D-A7, D-A8 23 | 125 | 15 D-A7,D-A8 23 | 15 | 105
D-F700, D-J7, D-J79W, D-F7PW, -F70, D-J79, D-J79W, D- ]
D-F79F, D-JF7BAJ, T B | =8| B B-E;QDF,DD:JIZ?BE,JI;-GIJ:\/?VN'? FIPW. 1 23 | 15 | 10
D-A700H, D-ABOH 22 | 125 | 15 D-A70H, D-ASOH 22 | 15 | 9
D-A73C, D-AB0C 23 | 15 | 175 D-A73C, D-AB0C 23 | 175 | 175
D-F700V, D-F7O0WV 23 | 125 | 15 D-F70V, D-F7TOWV 23 | 15 | 14
D-J79C 24 15 17.5 D-J79C 24 17.5 16

Note 2) For 25 and 50 strokes, the shock absorber is
mounted on a single side of the plate. Refer to
p.3.6-30 for the dimensions of the 25 and 50

strokes.

Note 2) For 25 and 50 strokes, the shock absorber is
mounted on a single side of the plate. Refer to
p.3.6-30 for the dimensions of the 25 and 50

strokes.

3.6-29

CL
MLGC

wo_
we
oo




Series CXWM

P32 with End Lock: CXWM32- [Stroke/25, 50 |R

Max.19.5. 28.5 ZZ
2 X 2-M8 X 1.25 Thread depthi5 e Q ot gﬂ;‘t A 1-5b |
| { Adjusting bolt
2 X 2-08+7"6"" Depth 12 I 5 S,f 5~ . bethg 75 045
. /’ 1 positions for a set screw 4-M6 X 1.0 Thread through
Mi14 X 1.5 | / for fixing an adjusting bolt From the opposite side
RB1411 W &1 4-g9.5
Y Shock absorber % ! @ f Depth of counter bore 5.4
B £
5 |0 dtd PR J8 o jer s
41X “ . | :
5 ~ g o ke
‘ 4-06.9 Through
1,] 5] 2-Re(PT) )5 . 65 | 4-o1 Depth of counter bore 7 15 2-Rc(PT)’s
Plug (R(PT)!%) 20.5 (Cylinder port)
(Cylinder port)
2-Rc(PT)la
G [Plug (R(PT) )

(Cylinder port)

40
385
37.5

‘8?@?@%% é#

—%3

2 8H7+50's | |
ke L N 1 T

RB1411-X552 Shock absorber

End lock mechanism 20 Z f 20 2 X 2-06.9 Through
‘ p+005 /2 X 2-011 Depth of counter bore 6.5
(98H7H0|e pitch)
el A/Z |
o 4?— .
10 IS
»—2' | o Q;—_¢-
R e
e 1 N\
M~
= §
L 4-M8 X 1.25 @ /A y
2-Rc(PT)% Thread depth 15 / \2 positions for set screws
Plug (R(PT)!%) o8u7 T8%'°Depth12\  \for fixing shock absorbers (M5)
(Cylinder port) T 145 (mm)
2 Model F L P Q S [ sSsS| G z | 2z
" T ( CXWM32-25R | 37 | 41 | 22 | 143 | 27 | 96 | 275 | 123 | 163
22t o1 | CXWM32-50R| 38 | 65 | 45 | 193 | 52 | 121 | 28 | 173 | 213
Housing mounting style with auto switch Plate mounting style with auto switch
CDBXWM32-25, 50, CDBXWM32-25R, 50R CDPXWM32-25, 50, CDPXWM32-25R, 50R
Auto switch Magnet mounting block
Hw, j Auto switch Hw, —,, _Ht
.,:'_:. I
. = A —+ -
= — [ 4 0l
t =Y @™ * —F ' @™
- FO= } - : ==24
—_—t 0 | 4
" =IO R =
Note 1) The dimensions show D-7A and D-8A Note 1) The dimensions show D-7A and D-8A
(mm) (mm)
Auto switch Hw Hs Ht Auto switch Hw Ht Hv
D-A7, D-A8 23 | 125 | 15 D-A7, D-A8 23 | 15 | 105
D-F70, D-J79, D-J79W, D-F7PW, D-F70, D-J79, D-J79W, D-F7PW,
D-F79F, D-F7BA, D-F7NT ® || =8| & D-F79F, D-F7BA, D-F7NT BB | W
D-A700H, D-A80H 22 | 125 | 15 D-A700H, D-A80H 22 | 15 9
D-A73C, D-A80C 23 | 15 | 175 D-A73C, D-A80C 23 | 175 | 175
D-F70V, D-F7O0WV 23 | 125 | 15 D-F70V, D-F7OWV 23 | 15 | 14
D-J79C 24 | 15 | 175 D-J79C 24 | 175 | 16

3.6-30

magnet mounting block.

Note 2) 2 magnets for auto switches are equipped to the

Housing mounting style with auto switc
SCXW32C, #1
SCXW32C, #2

CDBXWM32-25R::--
CDBXWM32-50R::--

Note 2) 2 magnets for auto switches are installed in the

housing.



Slide Unit/Built-in Shock Absorber

Series CXWIL

Ball Bushing Bearing/g10, 216, 820, 825, 232

How to Order

CXWL (16150
[ ] |

Standard

WIGRNNTEY C| DB

XWL[16}-150

A73

Cylinder with auto switchl

Symbol | Specification/Mounting Number of auto switches
With auto switch/ — 2
DB : ’
Housing mounting S 1
With auto switch/ n n
DP )
Plate mounting
Bearing ¢
L |  Ballbushing ¢ Auto switch
Cylinder bore size/Strok = | o
L
ylinder bore size roke (mm) * Refer to the table below for the
210 | 25,50, 75, 100 part numbers for auto switches.
@16 | 25,50, 75, 100, 125, 150, 175, 200 ¢End lock
@20 | 25,50, 75, 100, 125, 150, 175, 200 R With end lock
925 | 25,50, 75, 100, 125, 150, 175, 200 — None
232 | (25), 50, 75, 100, 125, 150, 175, 200

Note 2) Refer to standard strokes list on p.3.6-32 for the strokes other than the strokes

Q Note 1) For (25) stroke, the shock absorber is mounted on a single side of the plate.

indicated above.
Note 3) For 16, 20 and @25, strokes up to 275, and for @32, strokes up to 225
available as made to order. (-XB11)

are

Applicable Auto Switch/Rrefer to p.5.3-2 for further information on auto switches.

. 18 » Load voltage Auto switch model Bore size Wire length (m)* )
Stvle Special Electrical| % | Wiring Electrical ent - Applicable
Y iEiten entry | (Output) DC AC _ry Housmg Platg 05|3]|5|— load
£ Perpendicular| In-line | mounting [mounting | (—) | (L) | (2) |(N)
3wires |— 5V — — A76H ® @& —|—| IC —
3 — | — | 200v | A72 | A72H 16| °0 [ ole[—][—
Grommet| > g 16 —
L 12V | 100V | A73 | A73H | @20 220 e 0o 0 —
S S| 2wires | [5v,12v[10vorkess| ABO [ ABOH | 025 | o | @ [@] ][ ic
: o Connectoré 12v | A7EC | — 832 932 | @ @ @ @ — |Relay
g S 5V, 12V|24V or less| ABOC | — 000 PLC
o g| 3wires |—| 5V — — | E76A e —|—
2 — _ =] —
GrommetT 2 wires |24y 12v 100V E73A 210 oo
z 5V, 12V|100Vorless| —— | E80A ® & —|— | IC
3 wires (NPN) F7INV | F79 ® 0 O —
- 5V, 12V IC
o Grommet 3 wires (PNP) F7PV F7P ® 0 0O —
= ) F7BV | J79 ® 0 O —
B 2 wires 12v -
s Connector J79C — 16 210 [ N BN BK ]
7 - 2
3wires (NPN) F7NWV | F79W 16 | @ @O |— Rela
g Ip indicati ® 24v|sv, 12v| — @20 | © Ic y
2 [y s vires (PvP) ’ — [Fpw | o5c | 920 [ @ [@[O|— PLC
[}
2 225 —
g 2 wires 12y F7BWV | J79W | 435 > ® 0 0 _
o |Water resistant (2 color) | Grommet — F7BA a — | @|O|—
8 With timer 3 wires (NPN) 5V, 12V — | E7NT —_lelo= |c
With diagnoses output Awires (NPN) — F79F ® 0 O|—
(2 color) — | F7LF** ® 0O —| —
+ Symbols for wire length  0.5m ------- — Ex)A80C  5m - Z Ex)A80CZ = The solid state switches marked with “(0" are produced after orders
3m e L Ex)A80CL — - N Ex) ASOCN are received.

#+ D-F7LF is not mountable to Series CDPXW.

3.6-31

wo_
we
oo




Series CXWIL

Built-in shock absorber
This is a built-in shock absorber style in which the
shock absorber is enclosed in the housing.

Dramatically reduced installation labor
The machining precision required for positioning
during the installation of the cylinder has been
reduced through the adoption of a special pin
hole machining process, thus decreasing the
amount of labor involved.

High-precision ball bushing

The bearings made of ball bushings decrease
the rise in starting pressure that could be caused
by a load imbalance. This also enables smooth
operation by ensuring stable travel resistance.

Provided with an end lock mechanism
An end lock is also available, which maintains
the cylinder's original position even if the air
supply is interrupted.

r
?ﬂrd;e

@ Made to Order Specifications

Specifications

Style Non-lube
Fluid Air

Proof pressure 1.5MPa
Max. operating pressure 1.0MPa
Min. operating CXWL10, 16 0.15MPa
pressure CXWL?20, 25, 32 0.10MPa

Ambient and fluid temperature

—10°C to 60°C (No freezing)

Piston speed (No lubrication)

30 to 500mm/s

Cushion

Shock absorber

Stroke adjustable range

Standard stroke: £2mm

Accessory (Option)

Straight knock pin (2 pcs.), Adjusting bolt* (-X138)

% -X138 has a stroke adjustable range of —12.5mm on one side.

Max. Movable Load/Non-rotating Accuracy/Max. Holding Force

Model CXWL10 CXWL16 CXWL20 CXWL25 CXWL32
Max. movable weight @ 1kg 4kg 5kg 7kg 10kg
Non-rotating accuracy (2)
< Deflection of a piston> +0.09° +0.03° +0.03° +0.02° +0.01°
rod is not included.

Max. holding force

( End Iock) 39.2N 98.1N 147.1N 245.2N 392.3N

model

Note 1) Place the center of gravity of the load and center of the slide unit close during operation.
If they are placed far apart each other, consult SMC.
Note 2) The factors are obtained under the conditions of a 25 strokes plate is pushed out.

Shock Absorber Specifications

Shock absorber @ RB0805-X552 RB1006-X552 R e

Applicable slide unit CXWL10, 16-000 | CXWL20, 25-0000 | CXWL32-00

Max. absorbed energy (J) 0.98 3.92 14.7

Absorbed stroke (mm) 5 6 11

Max. collision speed (m/sec) 0.05to 5

Max. operating frequency (cycle/min) @ 80 70 45

Max. allowable thrust (N) 147 353 667

Ambient temperature (°C) —10to 80

Spring force (N) Expanded 1.96 4.22 6.86
Compressed 3.83 6.18 15.30

Weight (g) 15 25 65

Note 1) "-X552" is an exclusive shock absorber installed in the housing, and is the screw not attached
specification of the outer part of the outer tube. “CXWL32-25" is mounted on a single side of the

plate and of the screw attached specification.

Note 2) Maximum absorbed energy per one cycle. The operating frequency can be increased in

compliance with the amount of absorbed energy.

Theoretical Force

Refer to p.5.4-1 and 5.4-79 for the made to
order specification of Series CXWL.

3.6-32

(N)
Rod size| Piston Operating pressure (MPa)
Model (mm) are%
(mm?) | 0.2 | 0.3 | 04 | 05 | 06 | 0.7 | 0.8 | 0.9
CXwL10-00 6 101 20 30 40 51 61 71 81 91
CXWL16-C 10 245 49 74 98 123 | 147 | 172 | 196 | 221
CXWL20-00 12 402 80 | 121 | 161 | 201 | 241 | 281 | 322 | 362
CXWL25-000 14 597 119 | 179 | 239 | 299 | 358 | 418 | 478 | 537
CXWL32-00 20 980 196 | 294 | 392 | 490 | 588 | 686 | 784 | 882
Note) Theoretical force (N)=Pressure (MPa) X Piston area (mm?2)
Standard Strokes
Standard stroke (mm)
Model
25 50 75 100 125 150 175 200
CXwL10-00 ] o ] o — — — —
CXWL16-0000 [ J [ J [ J o o [ J [ J [ J
CXWL20-0000 [ J [ J [ J o o [ J [ J [ J
CXWL25-00 o [ J [ J [ ] [ ] o (] (]
CXWL32-000 (%) o (] ® (] o o [ J

Note) The strokes marked with "(x)" has an absorber of single side plate mounting style.



Slide Unit/Ball Bushing Bearing: Built-in Shock Absorber

Weight (kg)
Vi Stroke (mm)
25 50 75 100 125 150 175 200
CXWL10 0.33 | 040 | 046 | 053 — — — —
CXWL16 072 | 0.85 | 098 | 1.11 | 1.23 | 1.36 | 149 | 1.62
CXWL20 1.0 118 | 1.35 | 153 | 171 | 1.89 | 2.06 | 2.24
CXWL25 132 | 154 | 176 | 1.97 | 219 | 243 | 2.63 | 2.86
CXWL32 256 | 296 | 3.37 | 3.75 | 419 | 456 | 4.98 | 5.39
Additional Weight for End Lock Model (CXWLO-R) (kg)
Applicable model Additional weight
CXWL10 0.08
CXWL16 0.14
CXWL20 0.15
CXWL25 0.20
CXWL32 0.43

Series

CXWL

Accessory (Option)
Straight knock pin

] Operating direction per pressurized port

Operating direction of housing when the
plate is fixed

N e e S

B - = A ﬂ

Standard side of housing

With end lock (CXWL- OR)
Operating direction of housing when
the plate is fixed

o[ T= e

|

/(Mounting side)

==
777 i
4= )

Operating direction of housing

|
]

Standard side of housing

mEE= ]

SISNN

(Mounting side)
|
NN
4% EE)

Operating direction of housing

Pressurized port A|B|C|D|E|F

Pressurized port A|B|C|D|E|F|G|H

Operating direction Right|Left| Left|Right|Left Right

Opel

rating direction  [Right| Left| Left|Right(Right Left|Left Right

OThere are 9 possible reciprocating piping methods.

OThe

re are 16 possible reciprocating piping methods.

] Deflection of a piston rod by center loading (Reference) \

When center loading is added to the
center of the housing

When center loading is added to the
nter of the plate

ce

i ! e
(mm) (mm)
Stroke Stroke
Model 100 200 Model 50 (100{150{200
Load (N) Load (N)

CXWL10 9.81 0.07 — CXWL10 2.94 0.06/0.30| — | —
CXWL16 39.2 0.05 0.20 CXWL16 4.90 0.03|0.10|0.25|0.45
CXWL20 49 0.04 0.15 CXWL20 7.84 0.03/0.09|0.18|0.35
CXWL25 68.6 0.03 0.10 CXWL25 9.81 0.03/0.09|0.16|0.25
CXWL32 98.1 0.02 0.07 CXWL32 29.42 0.02]0.05(0.10|0.15

Note)

The factors show the total width of the
deflections in the vertical direction.

n
88
oo
++
. [a)
S S
)
|
|2
(mm)
Model L oD ModelJ
CXWL10 10 4 MS4-10
CXWL16 10 5 MS5-10
CXWL20 15 6 MS6-15
CXWL25 15 6 MS6-15
CXWL32 20 8 MS8-20

OManufactured by Sansumi Trading Ltd.

Deflection width

3.6-33

wo_
we
oo




Series CXWIL

Construction; ﬂlO , ﬂ16 ,

@25

CXWL10

CXWL16

CXWL25

With end lock

T,

D D7) HBVBBBBI) 7B B

Vi -
el

(9)E1512(7,18¢322 @) 24
/7

[ [/

/

@

®® 0® O

a
With end lock
Component Parts Component Parts/With end lock

No. Description Material Notes No. Description Material Notes

Rod cover Aluminum allo Anodize ody for lockin uminum allo ard anodize
@ d lumi lloy dized @) |Body for locking Alumi lloy Hard dized

Rod cover A Aluminum alloy Anodize Lock finer Alloy tool stee Nickel plated after quenche:
@ d lumi ] dized k fi Il | | ickel plated aft hed
3 |Rod cover B Aluminum alloy Anodized @9 |Lock piston Carbon tool steel E'“‘é?{g?ﬁﬁé%?le%ated
@ |Housing Aluminum alloy Hard anodized Rod cover Aluminum alloy

Piston Aluminum allo romate eturn sprin ring steel inc chromate
® |Pi lumi lloy Ch d @) |r pring Spring | Zinc ch d

Piston roi High carbonate chrome bearing steel pipe | Quenched, Hard chrome plate Adjusting bolt rome stee ickel plate
® |Pi d igh carbonate chrome bearing steel pipe| Quenched, Hard chi plated @ |Adjusting bol Ch I Nickel plated
@ |Plate Aluminum alloy Hard anodized @ Body gasket NBR
Lock nut Carbon steel Nickel plated Rod seal NBR
(@ |Adjusting bolt Chrome steel Nickel plated @ |Piston seal NBR
Set screw (For fixing rods) Chrome steel Nickel plated Steel ball High carbon chrome bearing steel
D |set ring (For fixing shock absorbers) Stainless steel @) |Steel ball High carbon chrome bearing steel
(2 |setring Carbon tool steel Nickel plated O ring NBR
@3 |Plug Brass Nickel plated Round R set ring Carbon tool steel Nickel plated
Magnet Rare earth magnet 25 Lock nut Carbon steel Nickel plated
(9 |set screw for seal Chrome steel Nickel plated Plug Chrome steel Nickel plated
Spring Stainless steel
@ |CRsetring Carbon tool steel Replacement Parts: Seal kits
Round R set ring Carbon tool steel Nickel plated Model Kit No. Contents
Shock absorber — (RB0B05-X552 or}RBlOO6-X552) CXWL10 CXWL10-PS A rod seal @, a piston seal
@ |socket Brass Electroless nickel plated CXWL16 CXWL16-PS @b and a cylinder tube gasket
@) |Gasket _ NBR CXWL25 CXWL25-PS @ are included in one set.
2 |gall bushing — OThe seal kit includes a rod seal @3, a piston seal @3 and a
@ |Rod seal NBR cylinder tube gasket @9. List the order numbers in compliance with the
@4 |Piston seal NBR respetive models.
@ Piston gasket NBR (The piston gasket @ is not replaceable.)
V) Cylinder tube gasket NBR

3.6-34



Slide Unit/Ball Bushing Bearing: Built-in Shock

Construction: ﬂZO , ﬂ32

Absorber Series CX WL

CXWL20

With end lock
CXWL32 _ -
@3 & 6 @
@
(E i
a5 '@’ e

OEBRE

With end lock

Component Parts

Component Parts/With end lock

P

MXW

MXP

No. Description Material Notes No. Description Material Notes
@ |Rod cover Aluminum alloy Andized (@ | Body for locking Aluminum alloy Hard andized MG
@ |Rod cover A Aluminum alloy Andized @ | Lock finger Alloy tool steel Nickel plating after quenched
3 |Rod cover B Aluminum alloy Andized ® | Lock piston Tool steel Pl s Sbacned
(@ |Housing Aluminum alloy Hard andized @ | Rod cover Aluminum bearing alloy MGP
(® |Piston Aluminum alloy Chromated ® | Steel ball High carbon chrome bearing steel —
6 |Piston rod Hard carbon chrome bearing steel — ® | Steel ball High carbon chrome bearing steel M GQ
@ |Plate Aluminum alloy Hard andized @ | Round R type set ring Carbon tool steel Nickel plated —
® |Adjusting bolt Chrome steel Andized (® | Return spring Spring steel Zinc chromated MGG
(9 |Hex. socket head cap screw Chrome steel Andized © | Plug Chrome steel Nickel plated
AN H
g@ Hex. §ocket head cap screw Chrome steel And!zed @(1) ggb(gtcr)z)lt(%s Hex. screw Chrome steel Nickel plated MGC
@ |Setring Tool steel Andized -
— (25) strokes |Hexagon nut Carbon steel Nickel plated e —
@ |Magnet Rear earth 25 25. (50) to
@ |Spring Stainless steel @(1) 500 strokes | Adiusting bolt Chrome steel Nickel plated MGF
@ |CR setring Carbon tool steel (25) strokes | Shock absorber — RB1411 —
@® |Round R set ring Carbon tool steel Nickel plated @ | Body gasket NBR CY1l
@® |Ball bush — @ | Rod seal NBR L
@ |Shock absorber — RB1006-X552 or RB1411-X552 ( | Piston seal NBR MYl
@® |Plug Chrome steel Nickel plated @ | Oring NBR
A0 H
g@ ng. socket head cap screw Stainless steel Notel) Factors in the parentheses are of CXWM32.
@) |Piston seal NBR
@ |Rod seal NBR .
25 [ Piston gasket NER Replacement Parts/With end lock
@ |Cylinder tube gasket NBR Model Kit No. Contents
CXWL20 CXWL20R-PS A body gasket 12, a rod seal%@, a
i piston seal (4 and an O ring (5 are
Replacement Parts/Seal kit CXWL32 CXWL32R-PS | included in one set. )
Model Order number _ Cc{){)tents _ OThe seal kit includes a body gasket (2, a rod seal (3, a piston seal @ and an
CXWL20 CXWL20-PS A piston seal @), a rod Seal)@ O ring (5. List the order numbers in compliance with the respective models.
and a cylinder tube gasket @4 are
CXWL32 CXWL32-PS included in one set.

OThe seal kit includes a piston seal @, a rod seal @2 and a cylinder tube
gasket @4. List the order numbers in compliance with the respective models.
(The piston gasket is not replaceable.)

3.6-35



Series CXWIL

1] 10 Basic Style: CXWL10- [Stroke/25 to 100 |

Max.ZZ
Q
e >
2 X 2-63.3 Through ss s
2 X 2-06.5 - R =
Depth of counter bore 3.2 F p=e g
(@47 Hole pitch) 5]
&
2-M8 X 1.0 \ =N
Adjusting bolt 1 . L[
Gl TS S
1€ -9 & ! ©
@g 6 ] o E— & "
o : . i - - r~| o N oy |
e A 1 |-el
[ i - —] |
e | ' M |
. 8
- - == 1
oarr 8 Depths 4-M4 X 0.7Thread depth6 Socket AL
4 positions for set screws for fixing shock absorbers (M4) 2-M5 X 0.8
2-M4 X 0.7 Socket connecting port (2 posilions for hexagon socket head cap plugs) Cylinder port
|a4H7Jr8‘012
© ‘ ©
V)
ol @ T, ey =
{ A i |
w
©
28 L 2-M5 X 0.8 Plug (M-5P)
5 Port on the housing side
Max.8 10 z 10 9.5
+0.012 = e T
2 X 2-04H7 ¢ Depths . F =} 4-03.2Through
il 4-06.5
Depth of counter bore 3.3
=5
i wm
— ==
] 1 &
~&—- ) I
5
I + 5 3
g S
9 t ] e HT
S ¥ 71
2 X 2-M4 X 0.7 Thread depth8 2-RB0805 -X552
Shock absorber
(mm)
Model F L P Q S SS z Y74
CXWL10-25 355 45 30 138 27 101 128 |165.5
CXWL10-50 38 70 50 188 52 126 178 | 2155
CXWL10-75 40.5 95 70 238 77 151 228 |265.5
CXWL10-100 43 120 90 288 102 176 278 | 315.5

Basic style

CXWL10-25----SCXW4, #1 (#1 + #11)
Housing mounting style with auto switch
CDBXWL10-25:-:--SCXW4, #4 (#4 + #11)
Plate mounting style with auto switch
CDPXWL10-25--:---SCXW4, #7 (#1 + #7)

3.6-36



Slide Unit/Ball Bushing Bearing: Built-in Shock

@10 with End Lock: CXWL10- [Stroke/25 to 100 IR

Absorber Series CX WL

2 X 2-M4 X 0.7 Thread depth8 Max.ZZ
+0.012
2 X 2'@::1; ?(ef;hs 2-RB0805-X552
“viG AU Shock absorber
Adjusting bolt \ /
4 ©
@ @& / =)
33 S—L~ B -
, 5 [T =)
bel & 11— Sl R g
: v I X =)
: : = [P
. g ® @] \ /
et N =y
o5l 40 \4-@3.2Through Socket 3
4-06.5 2-M5 X 0.8
419 féMI?n);e(:.Bcl;l:}tx}agon socket head cap plug Depth of counter bore 3.3 Gylinder port
ylincorp 2-M5 X 0.8 Plug (M-5P)
(Cylinder port) Max.8
Max.9 14.5 / © Lot
ool ®] © = |
B H¢ Clemn & -
'
B4H;8.Dl? @
2 X 2-63.3Through
+0.012 e 2 X 2-06.5
End lock mechanism ,_ 22 _ 10 04nro Depth6 Depth of counter bore 3.2
= ko
‘ © @
0 *® = ¢ E
Al
8o% W ‘OLO\— 5—et-——4H)
® - O
¥ 7
\4-M4 X 0.7 4 positions for set screws for (mm)
Thread depth 6 fixing shock absorbers (M4)
2-M5 X 0.8 Hexagonsocketheadcappluig 105 5 porl ZZ
- - > CXWL10-25R 188.5
(Cylinder port)
.- CXWL10-50R 2385
A0 Lo ;5 CXWL10-75R 288.5
Qe CXWL10-100R 338.5
(o]
Housing mounting style with auto switch Plate mounting style with auto switch
CDBXWL10-|Stroke|, CDBXWL10-Stroke R CDPXWL10-[Stroke|, CDPXWL10-Stroke|R
Auto switch 20 Magnet mounting block Auto switch _Hw_ Ht
/ \a | >
\ \ | I
i n e — L"‘"ﬂ —— i1
pre Tl T ] L i &
$ @ ® $ e I LE
S Lhy 1 .
E e — ,,,,L:p ,7,7]; T @
, % e e i ®

£

Note 1) The dimensions show D-E7CJA and D-E80A.
Note 2) For 25 stroke, 2 magnets for auto switches are
equipped to the magnet mounting block.

Housing mounting style with auto switch
CDBXWL10-25R:----- SCXWS, #1

=

Note 1) The dimensions show D-A7 and D-A8. (mm)
Auto switch Hw Ht Hv
D-A7, D-A8 23 15 10.5
D-F700, D-J79, D-J79W, DF7PW,
D-F79F, D-F7BAL, D-F7NTL = el
D-A7C0H, D-A80H 22 15 9
D-A73C, D-A80C 23 17.5 17.5
D-F7QV, D-F7OWV 23 15 14
D-J79C 24 17.5 16

Note 2) For 25 stroke, 2 magnets for auto switches are installed

in the housing.

3.6-37

wo_
we
oo




Series CXWIL

@16 Basic Style: CXWL16- [Stroke/25 t 200 |

2-M8 X 1.0

Adjusting bolt

o517 %0 "? Depth 6

4 positions for set screws for fixing shock absorbers (M4)

_ Max.ZZ
Q _ 2 X 2-04.3 Through
- ss s 2 X 2-08 Depth of counter bore 4.5
2 - -
F P::{).OS__J
(057 Hole pitch) |
=+ =
el O 0| © — sl T
Bl 7 N
[=] _—1
’@‘ . 2 I a i
(==l T M oy o
+ ] & im © (e} &Y}
. A 5 B
by e P
v
© e, o 52

4-M5 X 0.8 Thread depth 10

2X2-M5 X 0.8

(Hexagon socket head cap plug)

41 i
S T Fgoi |
05H7 2-M5 X 0.8
- o Cylinder port
Y !
S ﬁ,{i —
qs A4 A —€ 5
\ Y
Max6 12 Fi 12 2X2-M5 X0.8
F P 4-04.3 Through Thread depth10
P
| 4-08 Depth of counter bore 4.5 |
|/ ‘
7N 75
g/ ]
E ~
g - kd | Byas
{ ]
| : —
&, \
ad ) T
T 1 \ —
2-RB0805-X552 \ 2 X 2-05u7 1§92 Depth 6
Shock absorber
(mm)
Model F L P Q S SS z zZ
CXWL16-25 345 39 52 160 27 121 148 184
CXWL16-50 47 64 52 210 52 146 198 234
CXWL16-75 53 89 65 260 77 171 248 284
CXWL16-100 53 114 90 310 102 196 298 334
CXWL16-125 65.5 139 90 360 127 221 348 384
CXWL16-150 78 164 90 410 152 246 398 434
CXWL16-175 90.5 189 90 460 177 271 448 484
CXWL16-200 103 214 90 510 202 296 498 534
Basic style
SCXW4, #2 (#2 + #12)

CXWL16-25:----
Housing mounting style with auto switch

CDBXWL16-25

SCXW4, #5 (#2 + #5)

Plate mounting style with auto switch

CDPXWL16-25

3.6-38

SCXW4, #8 (#8 + #12)



Slide Unit/Ball Bushing Bearing: Built-in Shock

@16 with End Lock: CXWL16- [Stroke25 to 200 IR

Absorber Series CX WL

2 X 2-M5 X 0.8Thread depth10 Max.ZZ
+0.012
2 X 2-05u7'g" ~Depth6 2-RB0805-X552 2-M5 X 0.8
2-M8 X 1.0 Shock absorber Cylinder port
Adjusting bolt o
N ® @ 21 f&
| ¢ e = 8. )
) @ — - \b eyl 3 G 3 oo}
ar =Sl ok
5 i — [ ] 72N
¥ & & N
o & 1
a ! 4-04.3 Through
05 46 \
4 11), 2-M5 X 0.8 = 4-08 Depth of counter bore 4.5 75, 1155
Hexagon socket head cap plug (Cylinder port)
Max.6
Max.6 4 2-M5 X 0.8 Plug (M-5P)
\(Cylinder port)
[Telicdlse] 1 ; <
[a¥]{aV](aV] ‘¢' R ey o [ e ) e
Lo 8o g og
o
o5 H7+8A012
. +0.012 12 2 X 2-04.3Through
End lock mechanism _ 23 12 e5H7 0 Depth6 2 X 2-08Depth of counter bore4.5
e “D'E‘T—{} 7 3
ol o) @ ll‘ / _miiﬁ__@:}l (mm)
> —— PR
~| ©a ﬁ e ) ——b4—¢ Br—13 Model 7z
@ = \ VT —¢ CXWL16-25R | 207
@ Y T & CXWL16-50R | 257
. CXWL16-75R 307
o 4 posmons for set screws
(QCl‘v;liid);rO.oanl;exagon SockBthesd Ep pid 96 \for shock absorbers (M4) CXWL16-100R 357
Y P 4-M5 X 0.8Thread depth10 CXWL16-125R | 407
5 Py CXWL16-150R 457
w0 { @ CXWL16-175R 507
% CXWL16-200R | 557
Housing mounting style with auto switch Plate mounting style with auto switch
CDBXWL16-|Stroke|, CDBXWL16-|Stroke|R CDPXWL16-|Stroke|, CDPXWL16-|Stroke|R
Auto switch Hw Magnet mounting block Auto switch Hw
T e !
| ¥ ] i
T —f—— 5 T o
i |
PR | Hj i E—— =
= 2Y
o A —— D f
1 & i P — (¢ *@ B S [
k4 & @ bd LS & @ =
|c¢‘_—_<t — o = —
Note 1) The dimensions show D-A7 and D-A8. (mm) Note 1) The dimensions show D-A7 and D-A8. (mm)
Auto switch Hw Hs Ht Auto switch Hw Ht Hv
D-A7, D-A8 23 | 125 | 15 D-A7, D-A8 23 15 | 105
D-F70, D-J79, D-J79W, D-F7PW, D-F70, D-J79, D-J79W, D-F7PW,
D-F79F, D-F7BA, D-F7NT 23 1125 15 D-F79F, D-F7BAL, D-F7NTL 28 1510
D-A700H, D-A80H 22 | 125 | 15 D-A70H, D-A80H 22 15 9
D-A73C, D-A80C 23 15 | 175 D-A73C, D-A80C 23 | 175 | 175
D-F70V, D-F7O0WV 23 | 125 | 15 D-F70V, D-F7O0WV 23 15 14
D-J79C 24 15 | 175 D-J79C 24 | 175 | 16

Note 2) For 25 stroke, 2 magnets for auto switches are equipped

to the magnet mounting block.

CDBXWL16-25R-

Housing mounting style with auto switch
----- SCXWS8, #2

the housing.

Note 2) For 25 stroke, 2 magnets for auto switches are installed in

3.6-39

wo_
we
oo




Series CXWIL

1] 20 Basic Style: CXWL20- [Stroke/25 to 200 |

2 X 2-85.2 Through

\ N ]
T D

4 positions for
4-M6 X 1.0 Thread depth9 06173912 Thread depth8  \set screws for fixing =X 2-M5 X 0.8

Shock absorbors (Hexagon socket head cap plug)

2 X 2-©9.5Depth of counter bore 5 77
T " 2 X4-M5 X 038
- Lo e e threadthrough
ss Z s - /From the opposite side
T 3 T 2 X 4-07.5
F prog . o 2-M10 X 1.0 7, 55 Depth of counter bore 4.5
(8 67 P Adjusting bolt
Hole pitch) 5
. b —O- 0 2 positions for set screws for
fixing adjusting bolts (M5)
8 - o
it 5
3 |o[o o o & 6@k

15.5
42 L 2-M5X08
o 679012 Cylinder port
[}
] |
——— o =
) R ? — = ? i ¢
ol & Yoo, IO
N o } :
2-M4 X 0.7 Thread depth5 6 ”
~
[V}
2 X 2-067*5912 Depth 8
2 X 2-M6 X 1.0Thread depth12
14 z 14
e e I
F P
p-—
4-05.5 Through
4-09.5
Depth of counter bore 5.5
N
PIGSEEERESTE: 0, . Wy i (D R T P ISR |, & S e Dy
3
®© o ?‘1 .¢ I I [‘{ @ ¢*
<
¥ )
® @ - - :
2-RB1006-X552
Shock absorber
(mm)
Model F L P Q S SS z Y74

CXWL20-25 | 355 | 39 52 164 | 27 123 | 150 | 178

CXWL20-50 | 48 64 52 214 | 52 148 | 200 | 228

) CXWL20-75 | 56.5 | 89 60 264 | 77 173 | 250 | 278

H 33335%'350 X208, 41 CXWL20-100| 54 | 114 | 90 | 314 | 102 | 198 | 300 | 328

Soeer " . CXWL20-125| 66.5 | 139 | 90 | 364 | 127 | 223 | 350 | 378
Housing mounting style with auto switch

CDBXWL20-150---SCXW20B, #2 (#1 + #2) CXWL20-150| 79 164 | 90 | 414 | 152 | 248 | 400 | 428

Plate mounting style with auto s’Witch CXWL20-175| 91.5 | 189 | 90 | 464 | 177 | 273 | 450 | 478

CDPXWL20-150:---SCXW20B, #3 (#1 + #3) CXWL20-200| 104 | 214 90 514 | 202 | 298 | 500 | 528

3.6-40




@20 with End Lock: CXWL20- [Stroke/25 to 200 IR

Slide Unit/Ball Bushing Bearing: Built-in Shock

Absorber Series

CXWL

(An adjusting bolt

33

225

Auto switch

27 4-M5 X 0.8 Thread through
Q From the opposite side
58 4 -07.5Depth of counter bore 4.5
F P 2 X 2-M6 X 1.0
(R, —_— - 3 17
StReptha] Thread depth 12 \—=
M10 X 1.0 X 14Lto the plate) 2-M10X1.0
/ Adjusting bolt 2 positions for set screws for
% -O— - —©@)- - @ /imng adjusting bolts (M5)
% R = o
= o Forty =2 CL
% 1 : | 77
B T N S N Llce
[N “’):(‘—:_ T \2 X 2-p6,,T7012 11 2- MSXDB CNA
1A 46 4-05.5Through Depth 8 s "‘P Cylinder port
81114 / 4-09.5 Depth of counter bore 5.5 155
2-M5 X 0.8 Hexagon socket head cap plug C B
(Cylinder port) 42 i
@ CVIMVG
& I
— s B
vl o ®
W8 oy o
[ | s — [y
wl @
2-M5 X 0.8 0.012 CXS
06H7"0
Hexagon socket head cap plug CXT
2 X 2-p5.2Through
2 X 2-09.5Depth of counter bore 5 Il Housing mounting style with auto switch
End lock mechanism 21 14 5 CDBXWL20-150R --SCXW20B, #4 MX
F P£0.05 _  4-M6 X 1.0 Thread cepth9 —
o™~
(G 6H7 =
= 8! Hole pitch) ® MXU
‘ S 7
5 " 5 13 MXS
=t -
2 |e|e o 0 0—="—0 60k v g MXQ
— $ [ ——-—Fb - = MXF
[4 positions for E —
| set screws for & lo61H7+3012
SELECIEWEIOr & 2-RBI006- X 552 MXW
fixing shock absorber 5 Thread depth 8 Shoacabsoiber VIV
2 —
B5__ _® E: mm  [MXP
0 [ Model E L P Q S SS Z Y74 —
™~ CXWL20-25R 35.5 39 52 164 27 123 | 150 | 199 M G
d CXWL20-50R 48 64 52 214 52 148 | 200 | 249
CXWL20-75R 56.5 89 60 264 77 173 | 250 | 299
8 12 X o-M5 X 08 1 ot head can o CXWL20-100R | 54 | 114 | 90 | 314 | 102 | 198 | 300 | 349 MGP
CTe B SAAGAN,S0CKE! MRadoap.Pug CXWL20-125R | 66.5 | 139 | 90 | 364 | 127 | 223 | 350 | 399 —
yincers CXWL20-150R | 79 | 164 | 90 | 414 | 152 | 248 | 400 | 449 MGQ
CXWL20-175R 91.5 | 189 90 464 | 177 | 273 | 450 | 499
CXWL20-200R 104 | 214 90 514 | 202 | 298 | 500 | 549 MGG
Housing mounting style with auto switch Plate mounting style with auto switch L —
CDBXWL20-[Stroke], CDBXWL 20-[Stroke]R CDPXWL20-[Stroke], CDPXWL20-[Stroke|R MGC
Hw Magnet mounting block Auto switch Hw | Ht —
T, 5 MGF
I‘L 5 —
» = Y " % ?_ 3 = Cy1l
i S — ) [l — @ P —
# ! | -p- 1+ H \ %t I I b I 353 MY1
% | . & - - __‘ -@
- 4 - 4
—_— x =i 1
Note 1) The dimensions show D-A7 and D-A8. (mm) Note 1) The dimensions show D-A7 and D-A8. (mm)
Auto switch Hw Hs Ht Auto switch Hw Ht Hv
D-A7, D-A8 23 12,5 15 D-A7, D-A8 23 15 10.5
D-F70, D-J79, D-J79W, D-F7PW, D-F70, D-J79, D-J79W, D-F7PW,
D-F79F, D-F7BAL, D-F7NTL 2 28 B D-F79F, D-F7BAL, D-F7NTL 28 B ©
D-A70H, D-A80H 22 12.5 15 D-A70H, D-A80H 22 15 9
D-A73C, D-A80C 23 15 17.5 D-A73C, D-A80C 23 175 | 175
D-F70V, D-F7TO0WV 23 12.5 15 D-F70V, D-F7O0WV 23 15 14
D-J79C 24 15 | 175 D-J79C 24 | 175 | 16

Note 2) For 25 stroke, 2 magnets for auto switches

are equipped to the magnet mounting block.

are installed in the housing.

Note 2) For 25 stroke, 2 magnets for auto switches

3.6-41



Series CXWIL

ﬂ25 Basic Style: CXWL25- [Stroke/25 to 200 | (<l

2 X 2-05.2 Through . Max.ZZ =
2 X 2-09.5 Q e
Depth of counter bore 5 ]
SS S -
£ p+0.05
{@6H7Hole pitch )
N 2 1
@ } _<J © ]
|
8 4 4 :
pe o, ©
™~ e r - Mo 1—- 5 8 @%
% oo = & &R
e\ (8 \E=rEe O
=}
o 1 of L] |o
‘ & _ N
4-M6 X 1.0Thread depthi2 \06H7+8'O12D9pth8 4 positions for set screws for 2 X 2-Rc(PT) % -l?-
- fixing shock absorbers (M5) Plug (R(PT) %) 18 |
435_ L
! o6H7 B2 2-Rc(PT)}%
| [ Cylinder port
I = L .
g
3 ol
R 5 A B
y Y
2 X 2-M6 X 1.0 Thread depth 12 ‘416 B Z 16 Max.6
2 X 2-06H7*3"? Depth8 | _F p 4-05.5 Through
4-069.5
Depth of counter bore 5.5
Y
R B ) | |
‘ Y ‘ 2-M10 0
+ -M10 X 1.
] oD A LY
T Adjusting bolt
g i
3| 58| f— | . o A I m—
3 ' 6
| X
' & I
¥ i
2-RB1006-X552
Shock absorber
(mm)
Model F L P Q S SS Z zz
CXWL25-25 315 41 65 171 27 128 155 199
CXWL25-50 31.5 66 90 221 52 153 205 249
CXWL25-75 56.5 91 65 271 7 178 255 299
CXWL25-100 56.5 | 116 90 321 102 203 305 349
CXWL25-125 69 141 90 371 127 228 355 399
CXWL25-150 81.5 166 90 421 152 253 405 449
CXWL25-175 94 191 90 471 177 278 455 499
CXWL25-200 106.5 | 216 90 521 202 303 505 549

Basic style

=

CXWL25-25:-:--SCXW4, #3 (#3 + #13)

Housing mounting style with auto switch
CDBXWL25-25.-::-:SCXW4, #6 (#3 + #6)
Plate mounting style with auto switch
CDPXWL25-25:-::-SCXW4, #9 (#9 + #13)

3.6-42




Slide Unit/Ball Bushing Bearing: Built-in Shock

Absorber Series CX WL

ﬂ25 With End Lock: CXWL25- [Stroke/25 to 200 |R

2 X 2-M6 X 1.0Thread depth12

2 X 2-064775%?Depth8

Max.ZZ

2-M10 X 1.0
Adjusting bolt

<
% & 5| | ¢
N N
6 g
B - :5%"_ 2 P
L -1
o] @ @
: $ - — b Through é_
—— 4-05,5 Throug al
2-Re(PT)l% | - s 2-Re(PT) % A8
\ Plug (R(PT)%) Depth of counter bore 5.5 Cylinder port
(Cylinder port) 2-Rc(PT) %
Max.6 435 Plug (R(PT)%) Max.8
(Cylinder port)
]
son Us Bo_.p égrm—
Al = ]
<
0617 0"
oo 16 2 X 2-05.2Through
. 06n7 0 Depth8 -—-l 2X2-095
End lock h 16 |
i feck miachisaler I—z—s-rﬁ M Depth of counter bore 5
I =r———] Shock absorber
i _© o/ @
[ 8 | ! s E— > 4
| i °L
| 1
g 3 R, A A, . N (mm)
‘ %G RS p— "@“‘ Model Y74
s — CXWL25-25R 222
3 ol § =& - @ CXWL25-50R | 272
\4-M6 X 10 4 positions for set screws for CXWL25-75R 322
2-Rc(PT) s 135 Thread depth 12 fixing shock absorbers (M5) CXWL25-100R 372
Plug (R(PT) %) ™\ :
{Cylinder port) - CXWL25-125R | 422
P L 2 CXWL25-150R | 472
L Ge | |t CXWL25-175R | 522
B CXWL25-200R | 572

Housing mounting style with auto switch

CDBXWL?25 -[Stroke]|, CDBXWL25-[Stroke|R

Auto switch

Magnet mounting block

Note 1) The dimensions show D-A7 and D-A8. (mm) Note 1) The dimensions show D-A7 and D-A8. (mm)
Auto switch Hw Hs Ht Auto switch Hw Ht Hv
D-A7, D-A8 23 125 15 D-A7, D-A8 23 15 10.5
D-F70, D-J79, D-J79W, D-F7PW, D-F70, D-J79, D-J79W, D-F7PW,
D-F79F, D-F7BAL, D-F7NTL 23 | 1251 15 D-F79F, D-F7BAL, D-F7NTL S ||
D-A7(0H, D-A80H 22 125 15 D-A7C0H, D-A80H 22 15 9
D-A73C, D-A80C 23 15 | 175 D-A73C, D-A80C 23 | 175 | 175
D-F70V, D-F7OWV 23 | 125 ] 15 D-F7aV, D-F7TOWV 23 15 14
D-J79C 24 15 17.5 D-J79C 24 17.5 16

Note 2) For 25 stroke, 2 magnets for auto switches are equipped

to the magnet mounting block.

CDBXWL25-25R::--:-SCXWS8, #3

Housing mounting style with auto switch

Plate mounting style with auto switch

CDPXWL25-[Stroke], CDPXWL25-[Stroke|R

Auto switch

s

¢ |

Note 2) For 25 stroke, 2 magnets for auto switches are installed in

the housing.

3.6-43

wo_
we
oo




Series CXWIL

ﬂ32 Basic Style: CXWL32- [Stroke/50 to 200 |

&
N

5
2 X 4-M6 X 1.0 Thread depth

/ From the opposite side

2 X 4-09.5
Depth of counter bore 5.4

s

2 X 2-06.9 Through 77 o_M14 X 1.5
2 X 2-o11 , Q Adjusting bolt
Depth of counter bore 65 \| [~ SS ] ‘
L4 _ p+005
‘ (@8n7 Hole pitch) 2 positions for set screws for
SK | , fixing adjusting bolts (M6) \
o o - 5 @f—
! of -
o . oo m e
o} 1 5 *m*cr 0
S T+ FD -4+ = oF =l 8
, T 5 e
* \ o \ e
R I !
& o-—% o ! L.

Y
4-M8 X 1.25 Thread depth15/ \08H7 0

+0.015

ht.
|

31

76

-_
=57

Depth12 4 positions for set screws for 2 X 2-Re(PT) %4 /

fixing shock absorbers (M5)

30 . L 2-Rc(PT) %
o | 08,7095 | [ Cylinder port
| ' f w|
i § / Si
L A Ty
} +| &2 MR o
[Te) ¢ | L -
Qg o A g
|
] 1
2-M6 X 1.0Thread depthT/ |
2 X 2-M8 X 1.25
Thread depth 15 20 Z 20
o X 2-08H7+8'°15Depth12 41 e P - 4-06.9Through
; | [4-o11
i | / Depth of counter bare 7
tY i y e
D - = -@-
P g & b4 et
I _
2 | |
s}
223 $—r & 8
[ % | ‘ \
[ : : __‘.\_ L
Py | | ) t
& - | B
t— 15 e-——-=o—ft 113§
2-RB1411-X552 Shock absorber
(mm)
Model L P Q S SS z 4
CXWL32-50 102 80 234 52 162 214 254
CXWL32-75 127 105 284 77 187 264 304
CXWL32-100 152 130 334 102 212 314 354
CXWL32-125 177 155 384 127 237 364 404
CXWL32-150 202 180 434 152 262 414 454
CXWL32-175 227 205 484 177 287 464 504
CXWL32-200 252 230 534 202 312 514 554

3.6-44

Plug (R(PT)!&)

I.o



Slide Unit/Ball Bushing Bearing: Built-in Shock

ﬂ32 Basic T ype: CXWL32- |25 Stroke |

Absorber Series

CXWL

2 X 2-M8 X 1.25Thread1d 20

2 X 2-081,75°" Depth12 \

4 ~4-06.9 Throug

4-011
Depth of counter bore 7

T

7.5

7 [ 2 X 4-M6 X 1.0 Thread through

From the opposite side

2 X 4-09.5
Depth of counter bore 5.4

31

2 X 2-06.9Through 204 Max.48 Shock absorber
2 X 2-a11 Depth of counter bore 6.5\ ‘ 184 S RB1411
i E e 137 s 2 o | [Mi4X15
2 positions for set screws for | 55+0.05 T | (Single housing installed) 24.5
fixing shock absorbers (M5) (‘E'Sm Hole pitch) |
M4 X 1.5 t ! =
. PAdjustmg bolt ‘T‘ B ? @
7N\ | ' i I I
R 1 ¥ 2y
o N I \ AR
Qe g 3>—¢-+—2F ©
o0 I O e 40
| "@' | \ ?‘:} I i L A
| —— |
s H PN I — /
sf “\ 71
1 position for set screws for 4-M8 X 1.25 / 08H?+8 “®Depth 12 2 X2-Rc(PT)}% / [15]
fixing an adjusting bolt Thread depth 15 Plug (R(PT))e) / 20,5
30 77 2-Rc(PT)'e
T ogurgee | [Cyinderport
/ 0
. :‘" .O_
i ' m? C\IT a ;
[ } ]Z -
2-M6 X 1.0 Thread deme/ 10

3.6-45

CL
MLGC

wo_
we
oo
MGF

CY1

MY1



Series CXWIL

ﬂ32 With End Lock:

CXWL32-

| Stroke/50 to 200 |R

2 X 2-MB X 1.25Thread depthis ~ 28-8._ Zz.
+0.015 fe i Q . 2-M14 X 1.5
2 X 2-0847 0 Depth12 1 SS s /Adjusting bolt
015 Depth28.5 ‘ a1, P [ 75, .. ..245
{An adjusting bolt M14 X 1.5 ‘ a! 2 positions for setscrews | || 4-M6 X 1.0Thread through
/ X 20L to the plate) ‘ ‘ | ‘ for fixing adjusting bolt (], | | From the opposite side
— __@__[ [} 4-09.5 Depth of counter bore 5.4
% | - { 5 P
— | I - { ()
| /
f ! = | "y Sl RS
9 =1 — ‘ —4+—=82 = L8 5| Q18
— : % i = 3T L P
| | : i ] .
wt i) i . .
413 S T Sy ?
Iy ‘ \ 4-06.9 Through
11| 15\ 2-Re(PT)'s - 65 _| \4-011 Depth of counter bore7 \2 X 2-Rc(PT))%
Plug (R(PT)!&) - \ \ Cylinder port
(Cylinder port)
2-Re(PT)%
30 L /Plug (R(PT) 14}
/" (Cylinder port)
t [ r/ -
0Ty oo
2lo5i |t 4 e —
E %ﬁ iy © [@9 A é: g ]
08H7+8'ms J o ol
RB1411-X552 Shock absorber
End lock mechanism 20 Fi [ -20 2 X 2-06. QThrough
\ | L4l P00 7 /2 X_2-011
Voo (08n7Hole pitch) / / Depth of counter bore 6.5
\ | 5 | / /
T : ol | / ‘
| T w@ ——%—1; @
|| & <.I0 . —_d Housi ting style with auto switch
o T e mre 1= H COEXWL32-150R- - SCXW32D, 42
3| 0 —a o 7 -150R - s
g‘?&‘,o_ mé’l:ﬁ—#——#—?—-ﬁ\—— =] o—-
y NI =
R ; \
~ - 7f¢,,\, —
: @3 AN @
4-M8 X 1.25 Thread depth15f \4 positions for set screws for
2-Rc(PT) % 08HT o 12Depth|2\ \flxing shock absorbers (M5)
Plug (R(PT) %) (mm)
(Cylinder port) 145 Model L P Q S SS 4 77
ol CXWL32-50R 102 80 234 52 162 214 254
s . CXWL32-75R 127 105 284 77 187 264 304
* A \ CXWL32-100R 152 130 334 102 212 314 354
T { CXWL32-125R 177 155 384 127 237 364 404
! CXWL32-150R 202 180 434 152 262 414 454
CXWL32-175R 227 205 484 177 287 464 504
CXWL32-200R 252 230 534 202 312 514 554

Housing mounting style with auto switch
CDBXWL32-[Stroke], CDBXWL 32-[Stroke]R

Plate mounting style with auto switch
CDPXWL32-[Stroke], CDPXWL32-[Stroke|R

: HW Ht
Auto switch HW Magnet mounting block Auto switch = N
- T
l Ty ¥y
Sina—T =
= winl = [
[ == o™ | =
1 — i - 4
; — 8 = E¢E 1 +— — = E¢E
Lc_g ] = == = -
Note 1) The dimensions show D-A7 and D-A8. (mm) Note 1) The dimensions show D-A7 and D-A8. (mm)
Auto switch Hw Hs Ht Auto switch Hw Ht Hv
D-A7, D-A8 23 | 125 | 15 D-A7, D-A8 23 15 | 105
D-F70, D-J79, D-J79W, D-F7PW, D-F70, D-J79, D-J79W, D-F7PW,
D-F79F, D-F7BA, D-FINT B | &= & D-F79F, D-F7BA, D-FINT B | b | W
D-A70H, D-A80H 22 [ 125 | 15 D-A70H, D-A80H 22 15 9
D-A73C, D-A80C 23 | 15 [ 175 D-A73C, D-A80C 23 | 175 [ 175
D-F701V, D-F7T0O0WV 23 | 125 | 15 D-F701V, D-F7T0WV 23 15 14
D-J79C 24 | 15 [ 175 D-J79C 24 [ 175 [ 16

Note 2) For 25 stroke, the shock absorber is mounted
on a single side of the plate. Refer to p.3.6-47
for the dimensions of the 25 stroke.

3.6-46

Note 2) For 25 stroke, the shock absorber is mounted

on a single side of the plate. Refer to p.3.6-47
for the dimensions of the 25 stroke.



Slide Unit/Ball Bushing Bearing: Built-in Shock

@32 with End Lock: CXWL32- [75 Stroke R

Absorber Series CX WL

Max.19.5 28.5 204
2 X 2-M8 X 1.25 Tread depth15 184 {M14 X15
y +0.015 - 137 27 { Adjusting bolt
2 X 2-08n7 76" Depthi2 P 55 T i L6 -~ 24.5 4-M6 X 1.0
| ‘ | / 1 position for a set screw i Thread through
MiaX1.5 ‘ |||/ Torfixing an adjusting bol \ . "From the opposite side
RB1411 \ » wouli 4-09.5
Shock absorber?, @ % $ LI P= - Depth of counter bore 5.4
& | i ff I
‘ " M g ¥ P —_——
g | O %*ﬁ* _,,f@g =l gigs 5, 8 CL
41X o == 9’@? PP
< Y 8 b & et ‘ MLGC
! ‘ \ 4-06. 9Thr0ugh ﬁ
1] 15\ 2-Re(PT) % _ 65 \4-011 Depth of counter bore 7 15 2-Re(PT)%s CNA
Plug (R(PT) &) 2051 \(Cylinder port)
(Cylinder port) ‘ CB
2-Rc(PT) )%
oI 1 /Plug (R(PT)%4) CVIMVG
| / (Cylinder port) I
/
A 10 edmt e e
oo ! ' CXS
o
08H7 *8 015: | -
CXT
RB1411-X552Shock absorber
End lock mechanism 20, 164 /20 2 X2-06.9 Through
1,\ a1 565+0.05 / 2 X 2-o11Depth of counterore 6.5 MX
‘*\ (e8r7Hole pitch) / / ——
/ / MXU
T THE --—6 /*f é_ —
[ /1R
o e xS
& ‘ o487 MXO
- T I
T DiIEEw==" MQ
| P P
\ 1 @ 0 o— }v \ \ & MXF
foo —_—
2-Rc(PT)’% 4-MB X 1.25 Thread depth 15/ \2 positions for set screws for
Plug (R(PT)!4) sgo15\ |\ fixing shock absorbers (M5) MXW
(Cylinder port) 145 98 Hr —
T Depthi12
q \|] MXP
& L e —
(S F I o~
| LT - )
ﬁtt @ ; MG
; MGP
. . . . . . . MGQ
Housing mounting style with auto switch Plate mounting style with auto switch L —
CDBXWL32-25, CDBXWL32-25R CDPXWL32-25, CDPXWL32-25R MGG
Auto switch Hw Magnet mounting block Auto switch HW__ > _..Ht e —
= —
T/ 5 s MGC
- — Ay wn
D= @l"* = |9 MGF
H | ' -E = t E¢=:7 ’ e —
T 1 T j _@ CYl
= [y ssttign=ail] L
£48 MY1
Note 1) The dimensions show D-A7 and D-A8. (mm) Note 1) The dimensions show D-A7 and D-A8. (mm)
Auto switch Hw Hs Ht Auto switch Hw Ht Hv
D-A7, D-A8 23 [ 125 | 15 D-A7, D-A8 23 15 | 105
D-F70, D-J79, D-J79W, D-F7PW, D-F700, D-J79, D-J79W, D-F7PW,
D-F79F, D-F7BA, D-F7NT & || 8| & D-F79F, D-F7BA, D-F7NT B | B | W
D-A700H, D-A80H 22 | 125 | 15 D-A70H, D-A80H 22 15 9
D-A73C, D-A80C 23 15 | 175 D-A73C, D-A80C 23 | 175 [ 175
D-F701V, D-F70WV 23 [ 125 | 15 D-F701V, D-F70O0WV 23 15 14
D-J79C 24 15 | 175 D-J79C 24 | 175 | 16
Note 2) 2 magnets for auto switches are equipped to the Note 2) 2 magnets for auto switches are installed in the
magnet mounting block. housing.

l Housing mounting style with auto switch
CDBXWL32-25R SCXW32D, #1

3.6-47



Series CX
Auto Switch Specifications 0

Refer to p.5.3-2 for further information on auto switches.

Applicable auto switches

Applicable cylinder Auto switch Electrical entry/Function| Page
D-A7/A8 Grommet 5.3-14

Reed D-A7C0H/A80H Grommet 5.3-15

switch D-A73C/A80C Connector 5.3-16

D-E7CIA/E80A Grommet/Direct mounting| 5.3-24

CXWM, CXWL D-F70/379 Grommet 5.3-34
210, 516, 220 D-F70O0WI/J79W Grommet/2 color 5.3-44
(z25, 232 ) Solid D-F7OF Grommet 5.3-52
state D-F7BAL Grommet/Water resistant | 5.3-57

switch D-F7NTL Grommet/With timer | 5.3-60

D-F700V Grommet 5.3-35

D-J79C Connector 5.3-36

D-F7OWV Grommet/2 color 5.3-45

Note 2) Solid state switches are not mountable to the housing mounting @10.

Q Note 1) Only housing mounting 210 is possible for the auto switches D-E70JA and D-E80A.
Note 3) D-F7LF is not mountable to Series CDPXW.

A\ Precautions

LE LR R L R N

1 Be sure to read before handling. :
: Refer to p.0-44 to 0-46 for common precautions on auto switches. 1

3.6-48



	How to Order Slide Unit/Built-In Shock Absorber Slide Bearing
	Specifications/Theoretical Force/Standard Strokes
	Weight
	Construction
	Dimensions

	How to Order Slide Unit/Built-In Shock Absorber Ball Bushings
	Specifications/Theoretical Force/Strokes
	Weight
	Construction
	Dimensions

	Auto Switch Specifications

